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Question Number : 1 Question Id : 71087010653 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which school of thought laid down one of the principles of teacher and learner role as follows,

'The teacher's role is not to direct, but to advise because the child’s own interest should
determine what he learns”

1. Perennialism

2. Progressionism

3. Essentialism

4. Reconstructionism
Options :
71087042481. 1
71087042482. 2
71087042483. 3
71087042484. 4

Question Number : 1 Question Id : 71087010653 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087042481. 1
71087042482. 2
71087042483. 3
71087042484. 4

Question Number : 2 Question Id : 71087010654 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the list given below, identify those features which relate to an approach to teaching and
learning in indirect strategies of teaching

A. Engagement in an inquiring process

B. Concept-based content presentation

C. Gaining attention and informing the learners of the instructional objective

D. Presenting the stimulus material and stimulating recall of prerequisite learning
E. Encouraging students to use references from their own experiences

Choose the correct answer from the options given below:

1. A, B and C only
2. B, C and D only
3. A, B and E only
4. C, D and E only
Options :
71087042485. 1
71087042486. 2
71087042487. 3
71087042488. 4

Question Number : 2 Question Id : 71087010654 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087042485 1
71087042486. 2
71087042487. 3
71087042488. 4

Question Number : 3 Question Id : 71087010655 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



For use during teaching, from the list given below, identify questions that are ‘process
type’ rather than ‘content-type’

A. Divergent questions

B. Fact-based questions

C. Concept-based questions

D. Lower arder questions

E. Higher-order questions

Choose the correct answer from the options given below:

1.A CandE only
2. B, C and D only
3.C, D and E only
4. B, D and E only
Options :
71087042489. 1
71087042490. 2
71087042491. 3
71087042492. 4

Question Number : 3 Question Id : 71087010655 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087042489. 1
71087042490. 2
71087042491, 3
71087042492, 4

Question Number : 4 Question Id : 71087010656 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement I: Reliability is 2 necessary but insufficient condition for validity

Statement ll: In respect of evaluation tools, validity is not an all or none concept but it exists
as a continuum

In light of the above statements,choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement Il is true
Options :

71087042493. 1

71087042494. 2

71087042495. 3

71087042496. 4

Question Number : 4 Question Id : 71087010656 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087042493. 1
71087042494. 2
71087042495. 3
71087042496. 4

Question Number : 5 Question Id : 71087010657 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Systems of education which are place-specific, time-specific and person-specific
are said to be formal and are created by laid down law and procedures

Reason R: Open universities and open schools are the example of a formal system of
education because they are created by laid down procedures

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087042497. 1
71087042498. 2
71087042499. 3
71087042500. 4

Question Number : 5 Question Id : 71087010657 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087042497. 1

71087042498. 2

71087042499. 3

71087042500. 4

Question Number : 6 Question Id : 71087010658 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following methods of acquiring knowledge save time and effort on the part of
the researcher?

1. Method of experience

2. Inductive method

3. Deductive method

4. Methed of consulting an authority
Options :

71087042501. 1

71087042502. 2



71087042503. 3
71087042504. 4

Question Number : 6 Question Id : 71087010658 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087042501. 1

71087042502. 2

71087042503. 3

71087042504. 4

Question Number : 7 Question Id : 71087010659 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are features of the qualitative research paradigm?

A. The research is concerned with understanding the social phenomena from the participant’s
perspective

B. It seeks to establish relationships, among variables and explains the causes of changes in
measured social facts

C. It is conducted in actual settings as the direct source of data and the researcher is the key
instrument

D. It is concerned with the process rather than simply with outcomes or products
E. It attempts to establish universal context-free generalization
Choose the correct answer from the options given below:

1. A, B and C only
2. B, C and D only
3. A, Cand D only
4. C, D and E only
Options :
71087042505. 1
71087042506. 2
71087042507. 3
71087042508. 4

Question Number : 7 Question Id : 71087010659 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087042505 1
71087042506. 2
71087042507. 3
71087042508. 4

Question Number : 8 Question Id : 71087010660 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A researcher administers an achievement test to assess and indicate the possible effect of an
independent variable in his/her study. The distribution of scores on the test is found to be
negatively skewed. On the basis of this, what can be stated with regard to the difficulty level of
the test?

1. The test is very easy

2. The test is very difficult

3. The test is neither easy nor difficult

4. The test is easy and needs normalization
Options :

71087042509. 1

71087042510. 2

71087042511. 3

71087042512. 4

Question Number : 8 Question Id : 71087010660 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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71087042509. 1

71087042510. 2

71087042511. 3

71087042512. 4



Question Number : 9 Question Id : 71087010661 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: A researcher has to observe codal formalities at all stages without scope and
leeway for offending moral and ethical norms

Reason R: In respect of data collection, data analysis and interpretation there is, however, a
considerable scope of being ethically vulnerable

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087042513. 1

71087042514. 2

71087042515. 3

71087042516. 4

Question Number : 9 Question Id : 71087010661 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087042513. 1

71087042514 2

71087042515. 3

71087042516 4

Question Number : 10 Question Id : 71087010662 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The scope for employing ICT support is relatively more in which of the following stages of
research?

A. Problem formulation

B. Hypothesis making

C. Data collection

D. Data analysis

E. Data interpretation

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. Cand D only
4. D and E only
Options :
71087042517. 1
71087042518. 2
71087042519. 3
71087042520. 4

Question Number : 10 Question Id : 71087010662 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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71087042517. 1
71087042518. 2
71087042519, 3
71087042520 4

Sub-Section Number : 2
Sub-Section Id : 710870300
Question Shuffling Allowed : Yes

Question Id : 71087010663 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension

Read the given passage carefully and answer the questions that follow
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Transformation is characterized by certain features that clearly differentiate it from other types
of change. First, according to Beckhard, it involves substantial and discontinuous change to the
shape, structure, and nature of the organization, rather than incremental adjustments and fine-
tuning of the current situation. One example of a discontinuous change would be when a firm
changes from being production-driven to being customer-driven. Another would be a merger
of two crganizations. In both instances, the shape of the organization can be expected to
change radically. An corganization transforming from a preduction orientation to a customer
orientation will need to drastically decentralize and delegate authority. In a merger, entirely
new roles and working relationships will be created.

A second characteristic of transformation is that the need for change is caused by forces
external to the organization rather than forces inside the organization. A typical example
would be when an organization changes frem a functional to a divisional structure in response
to market forces or industry pressures in the form of competitor actions or regulatory changes.
Currently, globalization is one of the most powerful external forces for organizational
transformation.

A third distinguishing feature of transformation is that the change is deep and pervasive,
rather than shallow and contained. The change affects all parts of the organization and
involves many levels. Decentralization, downsizing and the gecgraphic relocation of functions
and activities exemplify changes that transform structural relationships deeply and pervasively.

Finally, transformation requires significantly different, and even entirely new, sets of actions by
the members of the organization, rather than more or less of existing behavior patterns.
Examples are changes to the norms and core values of an organization that are brought about
through acquisition, deregulation, and privatization or through a drastic strategic repositioning
such as shifting from a production-efficiency focus to a customer-service strategy.

Sub questions

Question Number : 11 Question Id : 71087010664 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

According to Richard Beckhard, transformation is what kind of change in the
organisational structure?

1. Incremental

2. Discontinuous
3. Finetuning

4, One-time
Options :
71087042521. 1
71087042522. 2
71087042523.3
71087042524. 4

Question Number : 12 Question Id : 71087010665 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What happens when two organisations merge?

A. Shape of the organisation will change

B. Product orientation remains the same

C. Drastic decentralisation of authority

D. Discontinucous change does not take place

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. A and C only



Options :

71087042525. 1
71087042526. 2
71087042527. 3
71087042528. 4

Question Number : 13 Question Id : 71087010666 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The pressure of market force can result in

1. Distortion of role perceptions

2. Changing to a functional structure
3. Changing to a divisional structure
4. Deregulation of competitive factors
Options :

71087042529. 1

71087042530. 2

71087042531. 3

71087042532. 4

Question Number : 14 Question Id : 71087010667 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What are the main levels of organizational transformation?
A. Downsizing

B. Geographical relocation

C. Contained changes

D. Power to external forces

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. A and D only
Options :
71087042533 1
71087042534. 2
71087042535. 3
71087042536. 4

Question Number : 15 Question Id : 71087010668 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What does organizational transformation require?

1. Strengthening existing behaviours of members
2. Changes in norms and core values

3. Production-efficiency strategy

4. All pervasive structural relationships

Options :

71087042537. 1

71087042538. 2



71087042539. 3
71087042540. 4

Question Id : 71087010663 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 71087010664 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087042521. 1
71087042522. 2
71087042523. 3
71087042524. 4

Question Number : 12 Question Id : 71087010665 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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71087042525. 1
71087042526. 2
71087042527. 3
71087042528. 4

Question Number : 13 Question Id : 71087010666 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087042529. 1

71087042530. 2

71087042531. 3

71087042532, 4

Question Number : 14 Question Id : 71087010667 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087042533. 1
71087042534. 2
71087042535, 3
71087042536. 4

Question Number : 15 Question Id : 71087010668 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
BT SRl & o 1 HUEa § 2

1. 9o dl & Ugiad HdeR &l Yeoax
2. HiF® Ud Gadhisd gl § dadid

3. TG BIAAT DI WA

4 THI TREATHES A Hdy
Options :

71087042537. 1




71087042538. 2
71087042539. 3
71087042540. 4

Sub-Section Number : 3
Sub-Section Id : 710870301
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 71087010669 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The domain of media appeal addresses the issues related to

1. Knowledge
2. Learning

3. Legality

4. Emotions
Options :
71087042541. 1
71087042542.2
71087042543. 3
71087042544. 4

Question Number : 16 Question Id : 71087010669 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HitsaT Srdie &1 Sar [y 4s Y dafed § 7
1. 3

2. ey

3. faf¥repan

4, 94T

Options :



71087042541. 1
71087042542. 2
71087042543. 3
71087042544. 4

Question Number : 17 Question Id : 71087010670 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following will make a student a good listener in the classroom?
A. Ability to deflect attention

B. Concentration

C. Desire to understand

D. Emotional outbursts

E. Humility to know

F. Ignoring the other side

Choose the correct answer from the options given below:

1. A B and C only
2. B, Cand D only
3.0, Eand F only
4. B, Cand Eonly
Options :
71087042545. 1
71087042546. 2
71087042547. 3
71087042548. 4



Question Number : 17 Question Id : 71087010670 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HeTd gRax | Fgifed # 9 o -1 ugf faenll &f T a1 411 s -

A. 21 fa®Ttd g4 @ &mar
B. GBS

C. 339y Bl EEE]

D. §3THS [Ghie

E. S HeE fg=aa

F. GUX U& D1 JUET B3
el fdhcd &1 994 Hiferu -

1. ®3d A, B3R C
2. $dd B, C3ARD
3. PaAD, E3NF
4 $daB, CARE
Options :
71087042545. 1
71087042546, 2
71087042547, 3
71087042548, 4

Question Number : 18 Question Id : 71087010671 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Pedagogy and social interaction are two major areas of activity of teachers
Reason R: It is communication that is crucial for making both the activities important

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087042549. 1

71087042550. 2

71087042551. 3

71087042552. 4

Question Number : 18 Question Id : 71087010671 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
o Gl By G TN § : T @l ey (A) 3R G @I ad (R) Pel T & ;
YA (A) : RI&® & G UHE D1 38 © - FE YR B SHBRI Yl WHIS il
b (R) : 39 &H! Bl & Tewaqyl s od SS90 3fdd Hewqdf 8|
Iuhdad HYHl & i H Fdiihd eyl H 9 Haiide I9g%d 3w 91 ;
A) 3R (R) THT T8I § 3R (R), (A) P! T8l AR B |
A) 3R (R) THT T § 3R (R), (A) BT T oA T8l €|
)
)

A) HB1 & U3 (R) 7Taid & |

1.
2. (
3.
4, (A) 7T 8 IR (R) W6l 8



Options :

71087042549. 1
71087042550. 2
71087042551. 3
71087042552. 4

Question Number : 19 Question Id : 71087010672 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List I with List Il

List | List 1l

Types of listeners Characteristics

A. Poor listeners . Scare others

B. Aggressive listeners II. Easily agree with the speaker

C. Passive listeners lll. Listen to ideas, but no emotions behind
D. Pseudo-intellectual IV. Fidget repeatedly

Choose the correct answer from the options given below:

TA-LB-ILC-IILD-V
ZA-ILB-LC-1IV,D-I
JA-ILB-IV,C-1,D-1i
4 A-IV,B-LC-II,D-1
Options :

71087042553. 1
71087042554. 2
71087042555. 3
71087042556. 4

Question Number : 19 Question Id : 71087010672 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Tail-1 B Gai-1l & Gy GHfd DI :
| el
siarsl dTUSR  (fa2yan
ANDIG YA |G BISUd B
B. 3ThH® 4ial |1l 9okl § I U YeHd 8l old &

RS s 11, T3TRI &7 %@01 F3d © dide 98 ol HiE Tal
| el

[-;‘%Tﬁ[ V. IRAER Jde S I

fafeiad 9ol § ¥ 98 S gHu

TA-LB-ILC-IILD-V
ZA-ILB-HLC-IV,D-I
JA-ILB-IV,C-1,D-1I
4 A-IV,B-LC-1I,D-1l
Options :

71087042553. 1
71087042554. 2
71087042555. 3
71087042556. 4

Question Number : 20 Question Id : 71087010673 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Find out the correct chronological order of the following educational communication ventures
in India

A. Krishi Darshan

B. Gyan Darshan

C. Vyas

D. Gyan Vani

Choose the correct answer from the options given below

1A B CD
2B CD A
3.D,A B C

4. A, D, B, C
Options :
71087042557. 1
71087042558. 2
71087042559. 3
71087042560. 4

Question Number : 20 Question Id : 71087010673 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HRd H e TEN0 IumHl & gaH | Heifed & ¥ 98 S-aR 59 9asu
A. DY A
5. M &34

C. "
D. 3 aroft
- feu v fasedl ¥ ¥ 9El S 9T

1A B CD
2B CDA
3.D,A B C

4. A, D, B, C
Options :
71087042557. 1
71087042558. 2
71087042559. 3
71087042560. 4

Question Number : 21 Question Id : 71087010674 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The difference of the square of two consecutive even numbers is 84. What is the sum of these
two consecutive even numbers?

1. 34
2. 38
3. 36
4. .42
Options :



71087042561. 1
71087042562 2
71087042563. 3
71087042564. 4

Question Number : 21 Question Id : 71087010674 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
&l St TH Y1l o 971 BT 3R 84 B 1 T G ShIHD UH WIS B A H1 6 ?

1. 34

2. 38

3. 36

4.42

Options :
71087042561. 1
71087042562. 2
71087042563. 3
71087042564. 4

Question Number : 22 Question Id : 71087010675 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the next term in the series

0,8, 24 48, __

sl
|
[

i
[l
=

Options :
71087042565. 1



71087042566. 2
71087042567. 3
71087042568. 4

Question Number : 22 Question Id : 71087010675 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FafeRad oie g # 3T 3@ ®f UgaH ditag

0,8, 24 48, __

sl
|
[

i
[l
=

Options :

71087042565. 1
71087042566. 2
71087042567. 3
71087042568. 4

Question Number : 23 Question Id : 71087010676 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Mr X is 40 years old and MrY is 60 years old. How many years ago was the ratio of their ages
3:57

1. 15 years
2. 10 years
3. 20 years
4, 30 years
Options :



71087042569. 1
71087042570. 2
71087042571. 3
71087042572. 4

Question Number : 23 Question Id : 71087010676 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TPReR X BT 31 40 99 ¢ 3R %X v &1 341 60 94 5| fovd 9 Ugdl 34 HI @1 g &1 3uld 3
5 YI?

11534
2.10 34
3.20T4
4,304
Options :
71087042569. 1
71087042570 2
71087042571. 3
71087042572, 4

Question Number : 24 Question Id : 71087010677 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a river from a fixed location, two identical boats start moving up-stream and down-stream,
respectively. The speed of the water current in the river is 3km/hour. If the speed of each of
the boats in still water is 15km/hour, the separation between the boats after 12 minutes will be

1. 3.6 km
2. 5.6 km
3. 6.0 km
4. 7.2 km



Options :

71087042573. 1
71087042574. 2
71087042575. 3
71087042576. 4

Question Number : 24 Question Id : 71087010677 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

et 761 & uo AfEe i € o e $HY: 746 B YR & U SR 961 3 U 1 3R TR
Bl 6| FAYRI @1 71d 3 .t /der g1 afe 33 Al Adrsil 3 € U@ A% @1 T R §a d
15 T Hl/ del & df 12 f&He & gaiq el idbrsil & did S gl ghil -

1. 3.6 T AT,

2. 5.6 [ Hl,

3. 6.0 T Hl,
4, 7.2 fo T,
Options :
71087042573. 1
71087042574. 2
71087042575. 3
71087042576. 4

Question Number : 25 Question Id : 71087010678 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Consider the following letter series and identify the next term
ace, thj, kmo,

1. npr

2. rv

3. prt

4. uwy
Options :
71087042577. 1
71087042578. 2
71087042579. 3
71087042580. 4

Question Number : 25 Question Id : 71087010678 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fgfafad 3ol - A W IR ST 3R 31T 98 &1 g S ;
ace, thj, kmo, ____

1. npr

2. rty

3. prt

4, uwy
Options :
71087042577. 1
71087042578. 2
71087042579. 3
71087042580. 4

Question Number : 26 Question Id : 71087010679 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Match List I with List Il

List I List 11
Theories Philosophers
A. Episteme and Doxa . Aristotle

B. Potential and Actual being Il. Hegel

C. Vyavaharika and Parmarthik lll. Sankara

D. Rational and Actual IV. Plato

Choose the correct answer from the options given below:

TA-LB-ILC-IILD-V
ZA-ILB-HLC-IV,D-I
JA-ILB-IV,C-ILD-I
4 A-IV,B-LC-IILD-I
Options :

71087042581. 1
71087042582. 2
71087042583. 3
71087042584. 4

Question Number : 26 Question Id : 71087010679 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 i Faii-1l & 9y GAferd ifor :

gal-| -1l

g HEIEED
A, U a1 SiE I AT,
B. §Yd U4 ad® Wd I 87
C. H9ele Ud URATda 111X
D. difh® U4 ardiad® WAE
i fou 7u fadedl o 4 Uel fdee gHu

TA-LB-ILC-IILD-V
ZA-IL,B-ULC-IV,D-I
JA-NILB-IW,C-1LD-|
4 A-IV,B-LC-IILD-I
Options :

71087042581. 1
71087042582. 2
71087042583. 3
71087042584. 4

Question Number : 27 Question Id : 71087010680 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What type of cognition is beyond the ambit of perception?

1. Anumiti

2. Upamiti

3. Nirvikalpaka pratyaksha
4. Savikarpaka pratyaksha
Options :

71087042585. 1



71087042586. 2
71087042587. 3
71087042588. 4

Question Number : 27 Question Id : 71087010680 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
U0 & G § W Hgiieed § 4 &H-91 S{fH§H A8 2
Proffed § 3 v Rew g

1. S

2. 3ufmfd

3. Ffdea® U
4. Giddbcdd Taf
Options :
71087042585. 1
71087042586. 2
71087042587. 3
71087042588. 4

Question Number : 28 Question Id : 71087010681 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘Golden mountain is fiery because it is smoky'
Which type of fallacy is committed by the above inference?

1. Asraya siddhi

2. Svarapa siddhi

3. Vyapyatva siddhi
4. Savyabhichara



Options :

71087042589. 1
71087042590. 2
71087042591. 3
71087042592. 4

Question Number : 28 Question Id : 71087010681 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e Udd i & it U8 YHaH & 59 SHM § B H-8 s & 7

1. ARG
2. eyl g
3. ATH@ G
4, GogHAR
Options :
71087042589. 1
71087042590. 2
71087042591. 3
71087042592, 4

Question Number : 29 Question Id : 71087010682 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a proposition which is particular affirmative,

1. Subject term is distributed but the predicate is not distributed
2. Neither the subject nor the predicate is distributed

3. Both subject and predicate are distributed

4. Subject is undistributed but predicate is distributed

Options :

71087042593. 1



71087042594. 2
71087042595. 3
71087042596. 4

Question Number : 29 Question Id : 71087010682 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

1. 3527 UG faaRd gid1 & W (99 faafd 781 gial &
2. 954 IR fAug & &5 i fGaRkd A8 sl g1

3. 3290 3R faty gl faaia gia &

4. 35=y fqaRa 7dt giar & g g faafa g 1
Options :

71087042593. 1

71087042594, 2

71087042595. 3

71087042596. 4

Question Number : 30 Question Id : 71087010683 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11
Concepts Schools

A. Abhava . Jainism

B. Anupalabdhi Il. Buddhism
C. Apoha lll. Vedanta
D. Syadavada IV. Nyaya

Choose the correct answer from the options given below:

TA-ILB-ULC-1L,D-IV
ZA-IILB-V,C-ILD-|
SA-IVB-LC-ILD-|
AA-I,B-ILC-1IV,.D-1lI
Options :

71087042597. 1
71087042598. 2
71087042599. 3
71087042600. 4

Question Number : 30 Question Id : 71087010683 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 i Faii-1l & 9y GAferd ifor :

Hjﬁ-j -1
SR BEEHp]
A. YT |
B. SMUdle .9l
C. 3Uig lIl. dgid
D. WIGAG v, g
i fou e fadeal o  Ugl 9w gMu:

TA-ILB-ULC-1,D-IV
ZA-ILB-V,C-ILD-|
SA-IV,B-ILC-ILD-|
4 A-,B-ILC-1V,D- 1

Options :

71087042597. 1
71087042598. 2
71087042599. 3
71087042600. 4

Sub-Section Number : 4
Sub-Section Id : 710870302
Question Shuffling Allowed : Yes

Question Id : 71087010684 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehension



Study the data table and answer the questions that follow

The following table shows the maximum marks of each subject inside the bracket and
percentage of marks obtained by seven students in six different subjects in the exam

Computer
Student/Subject science |Chemistry Physics/Geography History Math
(150) (130) (120) (100) (50) | (40)
Piyush 90 50 90 60 70 80
Gaurav 100 80 80 40 80 70
Mayank 90 60 70 70 90 70
Vimal 80 65 80 80 60 60
Vikas 80 65 85 95 50 90
Varun 70 75 65 85 40 60
Ashish 65 35 50 77 80 80

Sub questions

Question Number : 31 Question Id : 71087010685 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What are the average percentage of marks (%) obtained by all the seven students in Physics?

1. ~82.42
2. ~74.28
3. ~86.24
4. ~95.14



Options :

71087042601. 1
71087042602. 2
71087042603. 3
71087042604. 4

Question Number : 32 Question Id : 71087010686 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The number of students who obtained 60% and above marks in all subject is:

1. 4

2.5

3.2

4.1

Options :
71087042605. 1
71087042606. 2
71087042607. 3
71087042608. 4

Question Number : 33 Question Id : 71087010687 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What are the aggregate of marks obtained by Mayank in all the six subjects?

1. 432

2. 456

3. 460

4. 440
Options :
710870426009. 1



71087042610. 2
71087042611. 3
71087042612. 4

Question Number : 34 Question Id : 71087010688 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which subject is the overall percentage the best?

1. Computer Science
2. Chemistry

3. Math

4. Physics

Options :
71087042613. 1
71087042614. 2
71087042615. 3
71087042616. 4

Question Number : 35 Question Id : 71087010689 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the overall percentage of Ashish?

1. 54%

2. 68%

3. 59.66%

4. 63%
Options :
71087042617. 1
71087042618. 2
71087042619. 3
71087042620. 4



Question Id : 71087010684 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehension

fFrafafes afte Tde iva & oa @) o Sige § R uien & o8 f[ifis fual & 9w

BT gRT U fhu 7TT oit o1 ufawa gt &
HyeR fagH | TR | difadt |y | sfaer | afird
@ / faug
(150) (130) (120) | (100) | (50) | (40)
gy 90 50 9 | 60 | 70 | 80
g 100 80 80 | 40 | 80 | 70
Ha® 90 60 70 70 90 | 70
fara 80 65 80 | 80 | 60 | 60
faa g 80 65 85 95 | 50 | 90
G| 70 75 65 | 85 | 40 | 60
S IEIL] 65 35 50 | 77 | 80 | 80

Sub questions

Question Number : 31 Question Id : 71087010685 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



quft Tra faentdal gro Hifiost § urg i 710 ofid 3fd (90) T E 7

~82.42
~74.28
~86.24
~95.14
Options :
71087042601. 1
71087042602. 2
71087042603. 3
71087042604. 4

e A

Question Number : 32 Question Id : 71087010686 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
gyl fquai # 60% 3R 3TH AfYd 3ih UId B3 dIc S & G 18 ?

1. 4

25

32

4.1

Options :
71087042605. 1
71087042606. 2
71087042607. 3
71087042608. 4

Question Number : 33 Question Id : 71087010687 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T &1 94 ¢ vl & o Uidie | g ?

1. 432

2. 456

3. 460

4. 440
Options :
710870426009. 1
71087042610. 2
71087042611. 3
71087042612. 4

Question Number : 34 Question Id : 71087010688 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g faug ¥ yidie! & 999 ufdeddl 93y a7

1. S faqH
2. YHIOA 9 d
3. TTfUrd

4, Hifasl
Options :
71087042613. 1
71087042614. 2
71087042615. 3
71087042616. 4

Question Number : 35 Question Id : 71087010689 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



=Y &1 99Y ufaed fdai g 7

1. 54 %

2. 68 %

3. 59.66 %

4. 63 %
Options :
71087042617. 1
71087042618. 2
71087042619. 3
71087042620. 4

Sub-Section Number : 5
Sub-Section Id : 710870303
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 71087010690 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the full form of the abbreviation ISP?

1. International Service Provider
2. Internet Service Provider

3. Internet Software Provider

4, Internet Service Product
Options :

71087042621. 1

71087042622. 2

71087042623. 3

71087042624. 4

Question Number : 36 Question Id : 71087010690 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
"3TS UY U1 WA U8 ST R EY 18 ?

1. XA Giad Ylargst
2. e¥-e gidy Uiags

3. e G dWm Hias sy
4 3R glqq Uisae
Options :

71087042621. 1
71087042622 2
71087042623. 3
71087042624. 4

Question Number : 37 Question Id : 71087010691 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the name for a web page address?

1. Directory

2. Folder

3. Domain

4. URL
Options :
71087042625. 1
71087042626. 2
71087042627. 3
71087042628. 4

Question Number : 37 Question Id : 71087010691 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



de UM TS o [AU A 1 & 7

1. ST

2. hieaR

3. SiEA

4 3N Ug
Options :
71087042625. 1
71087042626. 2
71087042627. 3
71087042628. 4

Question Number : 38 Question Id : 71087010692 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Privacy and security of user data is at stake on the Internet

Reason R: No steps are being taken by the user for the security and privacy of data

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087042629. 1

71087042630. 2

71087042631. 3

71087042632. 4



Question Number : 38 Question Id : 71087010692 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o Gl By G TN § : T @l ey (A) 3R G @I ad (R) Pel T & ;
HYHYT (A) : SeTC W SIET WG 3 FIeiar 3R QRam gid W ekl g

TP (R) ; VGG R ST 31 GRE&T 3R Fioidl oq ®Is U9 e T o1 3% B
S B! & SHaiE | HHied el H J Jaiiye Juged IR gA ;

A) 37 (R) GHFI T8l € 31X (R), (A) B! Gel AReAT & q
A) 31X (R) &HT Tl € 3R (R), (A) B Uel IR 981 &
A) TE1 8 IR (R) el el 2

A) HE1 981 8 IR (R) HEI B

Options :

71087042629. 1

71087042630. 2

71087042631. 3

71087042632. 4

1.
2.
3.
4.(

Question Number : 39 Question Id : 71087010693 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a system software?

1. Compiler

2. Operating System

3. Application Software
4. Editor

Options :

71087042633. 1



71087042634. 2
71087042635. 3
71087042636. 4

Question Number : 39 Question Id : 71087010693 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Frferad # ¥ ®H-31 ey IeaiR 81 8 2

1. PUZTR

2. ATRFAT fies

3. Uil Tiear
4, TSR

Options :
71087042633. 1
71087042634. 2
71087042635. 3
71087042636. 4

Question Number : 40 Question Id : 71087010694 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is excluded from the domain of Artificial Intelligence?

1. Computer Vision
2. Machine Learning
3. Deep Learning

4. Text

Options :
71087042637. 1
71087042638. 2
71087042639. 3



71087042640. 4

Question Number : 40 Question Id : 71087010694 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Frafafed & @ oF-u ohHm g enféfrima et T s am e ?

1. PR fge
2. R &
3. 3o Al

4, TR
Options :
71087042637. 1
71087042638. 2
71087042639. 3
71087042640. 4

Question Number : 41 Question Id : 71087010695 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are Millennium Development Goals?
A. Eradicating extreme poverty and hunger

B. Improving maternal health

C. Addressing climate change

D. Promoting gender equity and empowerment of women

E. Ensuring energy security for all

Choose the correct answer from the options given below:

1. A, B, Cand D only
2. A, C, DandE only
3.ABCDandE

4. A B and D only
Options :
71087042641. 1
71087042642. 2
71087042643. 3
71087042644. 4

Question Number : 41 Question Id : 71087010695 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Hedleg] famy ded FaRiEa d 4o 98 2

A, Sifded T 3R 1 &1 3= Bl

B. HIg SR H GUR @I

C. Sadrg giad ¢t FHEeE &A1

D, AT T SR Bie Gida®m=ul o 9elal el
E. vt & o Sl gran gRida &

i feu 71u faoedl # U el 3T &l 94 Bife :

1. B3 A, B, C3IRD
2. PaddA, C, DIARE
3.A B CD3IRE

4 H3dA B3R D
Options :
71087042641. 1
71087042642, 2
71087042643, 3
71087042644, 4

Question Number : 42 Question Id : 71087010696 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of energy sources in terms of their heat of combustion in
increasing order

A. Methane

B. Natural fats and oils

C. Dry wood

D. Green wood

Choose the correct answer from the options given below

1.ACBD
2.D,CB A
3.D0,B,C A
4.D,C A B
Options :
71087042645. 1
71087042646. 2
71087042647. 3
71087042648. 4

Question Number : 42 Question Id : 71087010696 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fgfeiad St Gidt ©f ge1 91 & UgH § 390 U8l ARe! e & Ugd e ;
A HidA
B. UIidd a4l 3R dd

C. I PIY
D. ERd &8
Fafafad fasedl & ¥ U8l o= 9T

1.ACBD
2.D,C B A
3.D,B,C A
4D, C A B
Options :
71087042645. 1
71087042646. 2
71087042647. 3
71087042648. 4

Question Number : 43 Question Id : 71087010697 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Polluted rivers with very high values of Biological Oxygen Demand (BOD) may
produce a foul smell

Reason R: Anaerobic bacteria produce sulphur dioxide and oxides of nitrogen

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087042649. 1

71087042650. 2

71087042651. 3

71087042652. 4

Question Number : 43 Question Id : 71087010697 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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d® (R) : 'TRIfdD 9aIRAT b SIS AR Ao & HFISS Ual Hd & |

U Byl b e H Fgifed famedl | 9 waifts 3uged 3w g4 -

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel SRAT 751 5|
3. (A) TE1 8 R (R) TE1 T &

4. (A) HEl 981 8 IR (R) 9E1 B

Options :

71087042649. 1

71087042650. 2

71087042651. 3

71087042652. 4

Question Number : 44 Question Id : 71087010698 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



High hazard wastes may contain

A. Pathogens

B. Radioactive wastes

C. Non-reactive substances

D. Corrosive substances

Choose the correct answer from the options given below

1. A, B and D only
22A B CandD

3. B and D only

4. A B and Conly
Options :
71087042653. 1
71087042654. 2
71087042655. 3
71087042656. 4

Question Number : 44 Question Id : 71087010698 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HTEH WIS U & Iiaa gl Udd & -
A. DUToig

B. A& 3fiuided SRy

c. smfafrara® gard

D. H&iR® uary

AT feu 71U faeedl # © Uel I &1 98 BT :
1.Bac A B3R D

2.A, B, C3HRD

3. HaAB AR D
4, HIAA BIAHR C
Options :
71087042653. 1
71087042654, 2
71087042655. 3
71087042656. 4

Question Number : 45 Question Id : 71087010699 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In case of which of the following primary pollutants, the man-made contributions to global
emissions (million tonnes per year) is more compared to that from natural sources?

1. Sulphur dioxide
2. Nitric oxide

3. Methane

4. Carbon dioxide
Options :



71087042657. 1
71087042658. 2
71087042659. 3
71087042660. 4

Question Number : 45 Question Id : 71087010699 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fgfafaa o O fog mufle ugue & g9 o 3f¥e IdeH Wfd v fafees eq) s ded &
WiGlad Fial @1 ga1 H A4 & (36491 &1 IRTEH HEE § 2

1. Yoy SAHEES
2. AER® AHEs
3. dH

4, PET SAHES
Options :
71087042657. 1
71087042658. 2
71087042659. 3
71087042660. 4

Question Number : 46 Question Id : 71087010700 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which of the Universities named below, correspondence courses were initiated in 19627

1. University of Madras
2. University of Bombay
3. University of Calcutta
4. University of Delhi
Options :

71087042661. 1



71087042662. 2
71087042663. 3
71087042664. 4

Question Number : 46 Question Id : 71087010700 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fgfafaa o O fog fayfaarean o 94 1962 T UAEIR Ureushdl &1 Xo3HTd &1 1s 1 7

1. g fayfd=nea

2, Sigs [ayfaaTay

3. daiddl fayfdeay
4, feeoil faufaemeg
Options :
71087042661. 1
71087042662. 2
71087042663. 3
71087042664. 4

Question Number : 47 Question Id : 71087010701 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following areas of liberal education at the higher level in feudal society of Europe
were classified under trivium?

A. Geometry

B. Astronomy

C. Grammar

D. Logic

E. Rhetoric

Choose the correct answer from the options given below:

1. A, B and C only
2. B, C and D only
3.C, D and E only
4. A DandE only
Options :
71087042665. 1
71087042666. 2
71087042667. 3
71087042668. 4

Question Number : 47 Question Id : 71087010701 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A. ST

B. G faiH

C. SR

D. T

E. STPRAA

e feg 71e faeeul 9 U 9et ST &1 957 Sifer

1. ®3d A, B3R C
2. Paa B, C 3R D
3. PaqaC, D 3MRE
4. H3dA DIHRE
Options :
71087042665. 1
71087042666. 2
71087042667. 3
71087042668, 4

Question Number : 48 Question Id : 71087010702 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following categories of colleges is primarily intended for creating work ready
manpower on a large scale?

1. Autonomous college
2. Community college
3. Agriculture college
4. Technical college
Options :

71087042669. 1
71087042670. 2
71087042671. 3
71087042672. 4

Question Number : 48 Question Id : 71087010702 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FrafaRad 7 3 g 9ofl & Heriderad &1 e Ie%a e T9H W H1 o GOR SR
B A HTTEMIE 2

1. WO Helfagay
2. Y™ Helfaeey
3. Y Heldaay

4, g | Helfdered
Options :
71087042669. 1
71087042670. 2
71087042671. 3
71087042672. 4

Question Number : 49 Question Id : 71087010703 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Synchronous communication takes place through which of the following technologies?
A. Video chat

B. Virtual classrooms

C. Audio conferencing

D.Wikis

E. Electronic mail

Choose the correct answer from the options given below:

1. A, B and C only
2. B, C and D only
3.C, D and E only
4. A DandE only
Options :
71087042673. 1
71087042674. 2
71087042675. 3
71087042676. 4

Question Number : 49 Question Id : 71087010703 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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D. fafeg
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1. HaAA, B3R C
2. ®adaB, C3RD
3. ®aAC, DARE
4. HIAD, E AR A
Options :
71087042673, 1
71087042674. 2
71087042675. 3
71087042676 4

Question Number : 50 Question Id : 71087010704 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il

Levels of academic freedom in higher/Concerns at their levels
education institutions

I. Democratic functioning in the higher education
A. Personal level system and believing each individual worthy of
attention

: ll. Standard of behaviour and ethics we adopt
B. Professional level
and develop for ourselves

o l1l. Values which influence and cushion the
C. Institutional level , . ,
operation of higher education

IV. Exercising personal and professional values
D. Societal level within the concept of the higher education
institution

Choose the correct answer from the options given below:

TLA-IV,B-LC-1,D-1I
ZA-IL,B-LC-IV,D-IlI
JA-NILB-IW,C-1LD-|
4 A-1L,B-ILC-IILD-WV
Options :

71087042677. 1
71087042678. 2
71087042679. 3
71087042680. 4

Question Number : 50 Question Id : 71087010704 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gdi-1 § 3= & Geural § sfareiim waadl & W) i aul Jdi-1l § 396 Yaf of g2 gl
Gdi-1 Dl Gal-1l & Ty G Bifore ;

gal-| gl-1i

A dfidde |1 3= 1&g uuIel ¥ diddibe dReRY 3R Udd 989
R fdd & &Fdl § 3y &4

B o II. BN BRI 30+ T 30T 9F ard 3R Gehd e uH
s gIci ddeR 3R AfdHdl $ WY

;T- 1. 3= 187 & URETeH & GHIdd SR g §9Hdld Jed
D. TrETSI®|1v. 3= f2ian dwyreff 1 quron § Aafdaid ik Aegiiis
TR el i R H Al

frafeied famedl H 9 98l SR g -

TLA-IW,B-1,C-1,D-1
ZA-1,B-1L,C-1V,D-1l
JA-ILB-IV,C-Il,D-1
4 A-1,B-ILC-1I,D-1V
Options :

71087042677. 1
71087042678. 2
71087042679. 3
71087042680. 4

PART II Human Rights And Duties

Section Id : 710870252
Section Number : 2
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 92

Number of Questions to be attempted : 92

Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870304
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 71087010705 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is true of social movements?

1. They are panic responses

2. They are hostile outbursts

3. They have no established leadership
4. They are organized social actions
Options :

71087042681. 1

71087042682. 2

71087042683. 3

71087042684. 4

Question Number : 51 Question Id : 71087010705 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. 39 UM RJIUd g 7ol sial
4. 4 GTiod 9IS &5l ©
Options :

71087042681 1

71087042682. 2

71087042683. 3

71087042684. 4

Question Number : 52 Question Id : 71087010706 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Protection of Civil Rights Act, 1955 gives effect to which one of the following articles of the
Constitution?

1. Article 17

2. Article 25

3. Article 18

4, Article 29
Options :
71087042685. 1
71087042686. 2
71087042687. 3
71087042688. 4

Question Number : 52 Question Id : 71087010706 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. TG 17
2. 3G 25
3. 3=9G 18
4. 309G 29
Options :
71087042685. 1
71087042686. 2
71087042687. 3
71087042688. 4

Question Number : 53 Question Id : 71087010707 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Political revolution in which one of the following countries is NOT associated with the
evolution of human rights?

1. Britain

2. United States of America
3. France

4, China

Options :

71087042689. 1
71087042690. 2
71087042691. 3
71087042692. 4

Question Number : 53 Question Id : 71087010707 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. 94

Options :
71087042689. 1
71087042690. 2
71087042691. 3
71087042692. 4

Question Number : 54 Question Id : 71087010708 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following English Kings had granted the Magna Carta?

1. King John

2. King Edward
3. King Richard
4. King Charles
Options :
71087042693. 1
71087042694. 2
71087042695. 3
71087042696. 4

Question Number : 54 Question Id : 71087010708 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. {1 usas
3. T Rgs

4, T 97
Options :
71087042693. 1
71087042694. 2
71087042695. 3
71087042696. 4

Question Number : 55 Question Id : 71087010709 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Under which article of the Constitution, can the Supreme Court issue different kinds of writs?

1. Article 226
2. Article 32

3. Article 25

4, Article 228
Options :
71087042697. 1
71087042698. 2
71087042699. 3
71087042700. 4

Question Number : 55 Question Id : 71087010709 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. TG - 226
2. 3G - 32
3. 3G - 25
4, A5G - 228
Options :
71087042697. 1
71087042698 2
71087042699. 3
71087042700. 4

Question Number : 56 Question Id : 71087010710 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

'Human rights are literally the rights that one has because cne is human'. Who said this?

1. Pierre Vidal - Naquet
2. Jack Donnelly

3. Benjamin Ringer

4. W.D. Ross

Options :

71087042701. 1
71087042702. 2
71087042703. 3
71087042704. 4

Question Number : 56 Question Id : 71087010710 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. & 1.9
Options :
71087042701. 1
71087042702. 2
71087042703. 3
71087042704. 4

Question Number : 57 Question Id : 71087010711 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
"Every judge is an activist either on the forward gear or on the reverse”. Who said this in the
context of Public Interest Litigation?

1. Justice Krishna Aiyyar
2. Alexandrowicz

3. Myron Weiner

4. Justice P.N. Bhagwati
Options :

71087042705. 1
71087042706. 2
71087042707. 3
71087042708. 4

Question Number : 57 Question Id : 71087010711 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. A O HTR
2. Heldol Sifded

3. AR R

4, FHf UL, WEdl
Options :

71087042705. 1
71087042706. 2
71087042707. 3
71087042708. 4

Question Number : 58 Question Id : 71087010712 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following United Nations' body takes care of violations and abuses against
migrants and refugees in Libya?

1. World Health Organisation (WHO)

2. International Labour Crganisation (ILO)

3. Office of the High Commissioner for Human Rights (OHCHR)
4. United Nations General Assembly

Options :

71087042709. 1

71087042710. 2

71087042711. 3

71087042712. 4

Question Number : 58 Question Id : 71087010712 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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1. 3% W G (Sscy U )

2. A-IRIMETT 4H G113 (373, Ted. 241

3. AHANUSR 3= AN ey (3. Td. 9. 79, 3R)
4, TG IF HeH

Options :

71087042709. 1

71087042710. 2

71087042711. 3

71087042712. 4

Question Number : 59 Question Id : 71087010713 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Indian Constitution has been adopted and enacted by

1. The People of India

2. The Constituent Assembly
3. The Indian Parliament

4. The British Parliament
Options :

71087042713. 1

71087042714. 2

71087042715. 3

71087042716. 4

Question Number : 59 Question Id : 71087010713 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. YA & anl
2. g g4
3. YROg §89¢
4, fofear gug
Options :

71087042713. 1
71087042714. 2
71087042715. 3
71087042716. 4

Question Number : 60 Question Id : 71087010714 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Social Stratification means

1. Social mobility

2. Ancient civilization

3. Modern notion of class
4. Social hierarchy
Options :

71087042717. 1
71087042718. 2
71087042719. 3
71087042720. 4

Question Number : 60 Question Id : 71087010714 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. FrEITSR TidEiiedn
2. U |¥dm

3. 31y qiyRw
4, GHATSS Gardshd
Options :
71087042717. 1
71087042718. 2
71087042719. 3
71087042720. 4

Question Number : 61 Question Id : 71087010715 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Under which article of the Indian Constitution, is the right to property stipulated?

1. Article 18

2. Article 200
3. Article 300A
4, Article 371B
Options :
71087042721. 1
71087042722. 2
71087042723.3
71087042724, 4

Question Number : 61 Question Id : 71087010715 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. S9G 18

2. 3WG 200
3. 354 300 A
4, q=HC 3718
Options :
71087042721. 1
71087042722. 2
71087042723. 3
71087042724, 4

Question Number : 62 Question Id : 71087010716 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT an international non-governmental organisation?

1. People’s Union for Civil Liberties

2. Greenpeace

3. Human Rights Watch

4. South Asian Human Rights Documentation Center
Options :

71087042725. 1

71087042726. 2

71087042727. 3

71087042728. 4

Question Number : 62 Question Id : 71087010716 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Uiy gi-g= BiX [&idd faedhs

2. ddg

3. QA Wged ard

4, G13Y UG §OHA U3cy SIdgH-RH deX
Options :

71087042725. 1

71087042726. 2

71087042727. 3

71087042728. 4

Question Number : 63 Question Id : 71087010717 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"Sustainable Development” means

1. A process in which development can be sustained for generations
2. To develop environmental polices only for villages

3. To develop political parties

4. To eradicate poverty

Options :

71087042729. 1

71087042730. 2

71087042731. 3

71087042732. 4

Question Number : 63 Question Id : 71087010717 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4, TRi&! GH DAl

Options :

71087042729. 1

71087042730. 2

71087042731. 3

71087042732. 4

Question Number : 64 Question Id : 71087010718 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Under which article, the Constitution of India can be amended?

1. Article 3
2. Article 3
3. Article 3
4, Article 3
Options :

71087042733. 1
71087042734. 2
71087042735. 3
71087042736. 4

Question Number : 64 Question Id : 71087010718 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ff=9G 32
2. G
3. WG
i =
Options :
71087042733. 1
71087042734.2
71087042735. 3
71087042736. 4

e

5
56
68

{9 [ R W

Question Number : 65 Question Id : 71087010719 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The rise of consequentialist philosophers who believed in the promotion of a common good
or welfare was witnessed in

1. Seventeenth century
2. Eighteenth century
3. Nineteenth century
4. Twentieth century
Options :

71087042737. 1
71087042738. 2
71087042739. 3
71087042740. 4

Question Number : 65 Question Id : 71087010719 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. GoAgdl Adlfes

2. OREd! Fdlisg
3. S9gd! Tdlea
4, 9194t Fratieg
Options :
71087042737. 1
71087042738. 2
71087042739. 3
71087042740. 4

Question Number : 66 Question Id : 71087010720 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT true of the National Commission for Scheduled Castes?

1. To investigate and monitor all matters relating to the safeguards provided for Scheduled
Castes

2. To present reports to the President upon the working of the safeguards for Scheduled
Castes

3. To inquire into complaints of deprivation of rights of Scheduled Castes

4. While inquiring into such complaints, it does not have the power of a Civil Court

Options :

71087042741. 1

71087042742.2

71087042743. 3

71087042744. 4

Question Number : 66 Question Id : 71087010720 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087042741. 1

71087042742. 2

71087042743. 3

71087042744, 4

Question Number : 67 Question Id : 71087010721 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which article is inserted for the protection and improvement of the environment and
safeguarding of forests and wildlife?

1. Article 48A
2. Article 49B
3. Article 50A
4, Article 52A
Options :
71087042745. 1
71087042746. 2
71087042747. 3
71087042748. 4

Question Number : 67 Question Id : 71087010721 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ATEHC 48 A
2. FI=3G 49 B
3. 3G 50 A
4, ATIHC 52 A
Options :

71087042745. 1
71087042746. 2
71087042747. 3
71087042748. 4

Question Number : 68 Question Id : 71087010722 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Under which Article [of the Indian Constitution], the provisions regarding prohibition of
discrimination on grounds of religion, race, caste, sex or place of birth are mentioned?

1. Article 14

2. Article 15

3. Article 16

4, Article 17
Options :
71087042749. 1
71087042750. 2
71087042751. 3
71087042752. 4

Question Number : 68 Question Id : 71087010722 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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1. TG 14
2. TG 15
3. II=G 16
4, TG 17
Options :
71087042749. 1
71087042750. 2
71087042751. 3
71087042752. 4

Question Number : 69 Question Id : 71087010723 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who was the founder of the People’s Union for Civil Liberties (PUCL)?

1. Sardar Patel

2. Jayprakash Narayan
3. Ram Manohar Lohia
4. Sunderlal Bahuguna
Options :

71087042753. 1
71087042754. 2
71087042755. 3
71087042756. 4

Question Number : 69 Question Id : 71087010723 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. TRER Gcd

2. SOUDHIT AR
4, e dre S5
Options :
71087042753. 1
71087042754. 2
71087042755. 3
71087042756. 4

Question Number : 70 Question Id : 71087010724 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In 2007, which Declaration was adopted by The United Nations?

1. Rights of Indigenous people
2. Rights of Refugees

3. Rights of Children

4. Rights of Women

Options :

71087042757. 1

71087042758. 2

71087042759. 3

71087042760. 4

Question Number : 70 Question Id : 71087010724 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. GRS ATl & ISR
2. TRONTHGT & SHfUPR
3. Tl o SHUDR

4, TR & HRIPR
Options :

71087042757. 1
71087042758. 2
71087042759. 3
71087042760. 4

Question Number : 71 Question Id : 71087010725 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The modern conception of human rights has its roots in the intellectual enlightenment of

1. Sixteenth century

2. Seventeenth century
3. Eighteenth century
4. Nineteenth century
Options :

71087042761. 1
71087042762. 2
71087042763. 3
71087042764. 4

Question Number : 71 Question Id : 71087010725 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. GIcdgd! Lameq!
2. TGl qdleq]

3. SOREd! Fdleal
4. 3194l TdTeg!
Options :
71087042761. 1
71087042762. 2
71087042763. 3
71087042764. 4

Question Number : 72 Question Id : 71087010726 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The constitutional provisions regarding Preamble, Fundamental Rights, Independence of
Judiciary and Judicial Review are adopted from the constitutions of

1. United States of America
2. Canada

3. Germany

4, Australia

Options :

71087042765. 1
71087042766. 2
71087042767. 3
71087042768. 4

Question Number : 72 Question Id : 71087010726 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. ST

4, frefern

Options :
71087042765. 1
71087042766. 2
71087042767. 3
71087042768. 4

Question Number : 73 Question Id : 71087010727 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Juvenile Justice (Care and Protection of Children) Act was adopted in

1. 1986

2. 1987
3.1988

4, 1989
Options :
71087042769. 1
71087042770. 2
71087042771. 3
71087042772. 4

Question Number : 73 Question Id : 71087010727 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 1986

2. 1987
3.1988

4. 1989
Options :
71087042769. 1
71087042770. 2
71087042771. 3
71087042772. 4

Question Number : 74 Question Id : 71087010728 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The idea of 'self - evident' rights was espoused by

1. Magna Carta

2. US Declaration of Independence
3. Indian National Movement

4. French Revolution

Options :

71087042773. 1

71087042774. 2

71087042775. 3

71087042776. 4

Question Number : 74 Question Id : 71087010728 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1, BAT@HE
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4, TGl wifd

Options :

71087042773. 1
71087042774. 2
71087042775. 3
71087042776. 4

Question Number : 75 Question Id : 71087010729 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

International Human Rights day is celebrated on

1. 10" January

2. 10" February
3. 10" October
4, 10" December
Options :
71087042777. 1
71087042778. 2
71087042779. 3
71087042780. 4

Question Number : 75 Question Id : 71087010729 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3.10 AR

4,10 fegaR
Options :
71087042777. 1
71087042778. 2
71087042779. 3
71087042780. 4

Question Number : 76 Question Id : 71087010730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The expression 'fundamental rights of man’ was stated first of all in the constitutional
instruments of which one of the following countries?

1. The United States of America

2. The United Kingdom

3. The United Arab Emirates

4. The Union of Soviet Socialist Republics
Options :

71087042781. 1

71087042782. 2

71087042783. 3

71087042784. 4

Question Number : 76 Question Id : 71087010730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TEHl & Hiia® AR DI SifHcafed geol aR Hafafad o2l | | foad g9 aieql &
R el 4T 4 2

1. g5 s ey (3Ran)
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3. Hgad #d 3R

4. g5+ A% Hifdaq gRifee Rufsis
Options :

71087042781. 1

71087042782. 2

71087042783. 3

71087042784. 4

Question Number : 77 Question Id : 71087010731 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The basic difference between the Fundamental Rights and Directive Principles is

1. Fundamental Rights are positive while Directive Principles are negative

2. Directive Principles are given precedence over Fundamental Rights by the courts in all cases
3. Fundamental Rights are justiciable while Directive Principles are not

4. Fundamental Rights and Directive Principles are not justiciable

Options :

71087042785. 1

71087042786. 2

71087042787. 3

71087042788. 4

Question Number : 77 Question Id : 71087010731 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087042785. 1

71087042786. 2

71087042787. 3

71087042788. 4

Question Number : 78 Question Id : 71087010732 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Human rights traditionally have been thought of as

1. Moral rights

2. Individual rights
3. Family rights

4. Legal rights
Options :
71087042789. 1
71087042790. 2
71087042791. 3
71087042792. 4

Question Number : 78 Question Id : 71087010732 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Al SHDHR

2. i HEIPR
3. URAR & SHUHR
4, fafe fIdR
Options :
71087042789. 1
71087042790. 2
71087042791. 3
71087042792. 4

Question Number : 79 Question Id : 71087010733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which article of the Universal Declaration of Human Rights mentions "Everyone has the right
to life, liberty and security of person"?

1. Article - 1
2. Article - 2
3. Article - 3
4, Article - 4
Options :

71087042793. 1
71087042794. 2
71087042795. 3
71087042796. 4

Question Number : 79 Question Id : 71087010733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. TG 1

2. HIG 2

3. HIE 3

4. G 4
Options :
71087042793. 1
71087042794, 2
71087042795. 3
71087042796. 4

Question Number : 80 Question Id : 71087010734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following is NOT an exponent of neo-classical equilibrium theory?

1. W. 5. Jevons

2. Alfred Marshall
3. W. W. Rostow
4, Leon Walras
Options :
71087042797. 1
71087042798. 2
71087042799. 3
71087042800. 4

Question Number : 80 Question Id : 71087010734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. oy UH. Siay
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4. Te1efiA areed
Options :
71087042797. 1
71087042798. 2
71087042799. 3
71087042800. 4

Question Number : 81 Question Id : 71087010735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to Jack Donnelly, human rights are a particular type of

1. Legal practice

2. Moral practice

3. Constitutional practice
4. Social practice
Options :

71087042801. 1
71087042802. 2
71087042803. 3
71087042804. 4

Question Number : 81 Question Id : 71087010735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. [di¥/® SAdER

2, A% TaER

3. §auT-® IaeR
4, T SddeR
Options :
71087042801. 1
71087042802 2
71087042803 3
71087042804, 4

Question Number : 82 Question Id : 71087010736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Convention on Elimination of Discrimination Against Women (CEDAW) was adopted in

1. 1969
2.'1979
3.1989

4. 1999
Options :
71087042805. 1
71087042806. 2
71087042807. 3
71087042808. 4

Question Number : 82 Question Id : 71087010736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 1969
2.1979
3.1989
4.1999
Options :
71087042805. 1
71087042806. 2
71087042807. 3
71087042808. 4

Question Number : 83 Question Id : 71087010737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who of the following is NOT a proponent of the liberal perspective of human rights?

1. J. J. Rousseau
2. Thomas Paine
3. Leo Tolstoy

4, ). 5. Mill
Options :
71087042809. 1
71087042810. 2
71087042811. 3
71087042812. 4

Question Number : 83 Question Id : 71087010737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TR
Options :
71087042809. 1
71087042810. 2
71087042811. 3
71087042812. 4

Question Number : 84 Question Id : 71087010738 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

How many Articles are there in the Universal Declaration of Human Rights?

1. 27

2. 28

3.29

4. 30

Options :
71087042813. 1
71087042814. 2
71087042815. 3
71087042816. 4

Question Number : 84 Question Id : 71087010738 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



AHASRI & Gaiae g § fGa- Sraesa 8 7

1. 27

2. 28

3.29

4 .30

Options :
71087042813. 1
71087042814. 2
71087042815. 3
71087042816. 4

Question Number : 85 Question Id : 71087010739 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who is the author of No Logo: Taking Aim at the Brand Bullies?

1. David Harvey

2. Jan Aart Scholte
3. Naomi Klein

4, Roland Robertson
Options :
71087042817. 1
71087042818. 2
71087042819. 3
71087042820. 4

Question Number : 85 Question Id : 71087010739 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



1 S ; i U UE ¢ diS qellol” & odd D g 7

1. ofds grd

2. G HIE Whiee
Options :
71087042817. 1
71087042818. 2
71087042819. 3
71087042820. 4

Question Number : 86 Question Id : 71087010740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following articles provides for a National Commission for the Scheduled
Tribes?

1. Article 3
2. Article 3
3. Article 34
4, Article 3
Options :
71087042821. 1
71087042822. 2
71087042823. 3
71087042824. 4

Question Number : 86 Question Id : 71087010740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



frafaiad # 9 foy srgese # UEia ggfad SHefd San & Susy fear man g 2

1. S9G 338
2. w55 338 T
3. 3G 342
4. 309G 339
Options :
71087042821. 1
71087042822 2
71087042823 3
71087042824, 4

Question Number : 87 Question Id : 71087010741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following adopted and proclaimed the Universal Declaration of Human Rights?

1. United Nations General Assembly
2. United Nations Security Council
3. United Nations Charter

4. United Nations High Commission
Options :

71087042825. 1

71087042826. 2

71087042827. 3

71087042828. 4

Question Number : 87 Question Id : 71087010741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeied o 4 foud aRaiyeRl &f SraEs guon & oFfida R 9iftg faar 7

1. TG P HERIHI

2. YT U Y& UREG
3. §ga AP d1eR

4. GYEd TP AN
Options :

71087042825. 1
71087042826. 2
71087042827. 3
71087042828 4

Question Number : 88 Question Id : 71087010742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Chairman of the National Human Rights Commission should be

1. Chief Justice of India

2. Judge of the Supreme Court
3. Retired Chief Justice of India
4. Judge of the High Court
Options :

71087042829. 1

71087042830. 2

71087042831. 3

71087042832. 4

Question Number : 88 Question Id : 71087010742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



AP AFETIPR SN BI e §H1 FNey :

1. Y BT 7 e

2. 3wddd <Iad & EEE

3. Y I a1 It HBT e
4. 3= gIgTad &1 grreiEr

Options :

71087042829. 1

71087042830. 2

71087042831. 3

71087042832 4

Question Number : 89 Question Id : 71087010743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which of the following fields, W.T.O is stronger than GATT?

1. Trade in Services

2. Agreements concerning manufactured goods
3. Protection of Intellectual Property

4. Dispute Settlement

Options :

71087042833. 1

71087042834. 2

71087042835. 3

71087042836. 4

Question Number : 89 Question Id : 71087010743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fafeiad 4 © foog a3 J fic 31 3dan 9y TR 9184 9@ 2ieaad & ;

1. a1 § AUR

2. faffHa el § defig awr
3. AfG D GUGT ol HR&

4, faarg o1 AgeH

Options :

71087042833. 1

71087042834, 2

71087042835. 3

71087042836. 4

Question Number : 90 Question Id : 71087010744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which part of the Indian Constitution are the Directive Principles of State Policy mentioned?

1. Part Il

2 Part IV

3. Part IVA

4, Part |l A
Options :
71087042837. 1
71087042838. 2
71087042839. 3
71087042840. 4

Question Number : 90 Question Id : 71087010744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HRA Gfaye & fog v H vo & Hifd Feze s drewa s 2

1. HET - 111

2. HAT - IV
3.HAT- IV A
4 HET- 111 A
Options :
71087042837. 1
71087042838. 2
71087042839. 3
71087042840. 4

Question Number : 91 Question Id : 71087010745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following are NOT the exponents of socialism?
A. Robert Owen

B. Jermy Bentham

C. J.S Mill

D. Herbert Marcuse

Choose the correct answer from the options given below :

1. A and B only
2. B and C only
3. Cand D only
4. A and D only
Options :
71087042841. 1



71087042842. 2
71087042843. 3
71087042844. 4

Question Number : 91 Question Id : 71087010745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FEfeRed % 9 ©F Yo & Uidues ol 6 ?

(A) I&E 3T
(B) SR §uH
(€) o, oq. |

(D) B TR
i< fau e fasedl § O Ul 3wk 9T

1. $ad (A) 3R (B)
2. Had (B) 3R (C)
3. ®ad (C) 3R (D)
4, %ad (A) 3R (D)
Options :
71087042841, 1
71087042842, 2
71087042843. 3
71087042844 4

Question Number : 92 Question Id : 71087010746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are true about the United Nations Organisations’ view on poverty?

A. The U. N Human Rights bodies are critical of the statistically determined definition of
poverty.

B. The U. N. Committee on Economic, Social and Cultural Rights endorsed a multi-dimensional
understanding of poverty.

C. Multi-dimensional understanding of poverty does nct reflect the indivisible and
interdependent nature of all human rights.

D. Poverty is a human condition characterised by deprivation of capabilities.
Choose the correct answer from the options given below:

1. A, B and D only
2. B, C and D only
3.C, D and A only
4. A B and Conly
Options :
71087042845. 1
71087042846. 2
71087042847. 3
71087042848. 4

Question Number : 92 Question Id : 71087010746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFafiiad # 4 @ 9 oy RdTa W gad W@ o efam & SR d 951 6 2

(A) §ga Y HHG ISR e Fdd & ar 4 gifegsiy $u 3 Feuiid iy & gardke
gl

(8) 3tep, WA 3R TiEplad USRI b gR H TYad Ay FiHfd 7 a1 Bt e agamard
THY DI A [T

(©) a1 & 9R H agemar wag 9y 9Ha fieRl @t sfaHg R Tdd Udd i gHlida
BRI

(D) FeaT U AFa T €, 5 a|arsd &f d9-1 g1 afvfd &1 ol 81
4 fou T fawenl © ¥ 98 S I

Options :

71087042845. 1
71087042846. 2
71087042847. 3
71087042848. 4

Question Number : 93 Question Id : 71087010747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who are the key figures in Liberalism?

A. John Locke

B. Adam Smith

C. Karl Marx

D. V.l Lenin

Choose the correct answer from the options given below :

1. A and C only
2. B and C only
3. Cand D only
4. A and B only
Options :
71087042849. 1
71087042850. 2
71087042851. 3
71087042852. 4

Question Number : 93 Question Id : 71087010747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



JaRdlG & & 4 Y [daR® & 7

(A) S TP

(B) TSH &1y

(C) BT JTE

(D) &1, 315, T

id feu 77u fasedl & ¥ U1 IR 9T
1. &ad (A) 3R (D)

2. Pad (B) 3R (O)

3. &ad (C) 3R (D)

4, Had (A) 3R (B)

Options :

71087042849. 1
71087042850. 2
71087042851. 3
71087042852. 4

Question Number : 94 Question Id : 71087010748 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are elements of the Refugee Convention, 19517

A. The principle of non-discrimination

B. The principle of refoulement

C. Guarantee of non-penalization

D. Lack of provision to enjoy widest possible exercise of fundamental rights by refugees
Choose the correct answer from the options given below :

1. A and B only
2. B and C only
3. A and C only
4. C and D only
Options :
71087042853. 1
71087042854. 2
71087042855. 3
71087042856. 4

Question Number : 94 Question Id : 71087010748 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFrafaiad # 4 oH-4 TRl sifimmy, 1951 daa g ?

(A) HGHTE 7 T @ IS

(B) TRUTST I Fa g UeH @1 gid (URua $iw dwsade)

(C) TUS A T @I e

(D) TRONTAT gRT Aifce ATSR &1 FUEYd A0S S9aR B2 a1y 36 & UIgy & 4G
i feu ¢ famedl # 9 wel I g :

Options :

71087042853. 1
71087042854. 2
71087042855. 3
71087042856. 4

Question Number : 95 Question Id : 71087010749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is NOT true about radical feminism?
A. Women's liberation

B. Politics of the personal

C. Gender divisions are not politically significant

D. Advocacy of legal and political rights

Choose the correct answer from the options given below :

1. C and D only
2. A and C only
3. B and C only
4. D and A only
Options :
71087042857. 1
71087042858. 2
71087042859. 3
71087042860. 4

Question Number : 95 Question Id : 71087010749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FetEd 4 4 M 3T R d IR H 9181 € 2
A) Aearsii Bt o

B) Ot B Iei-itel (Uicica 3HTh Ta-a)

(C) WeR - [ayTeH TeHIA® ¥4 4 Hew@yu] gl ¢
(D) faf¥® 3R Jo-ia® USRI DI 4di

2 fow 1 fawedt & § et Iw U

Options :

71087042857. 1
71087042858. 2
71087042859. 3
71087042860. 4

Question Number : 96 Question Id : 71087010750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is correct about Indigenous Peoples?

A. The Convention (No.169) concerning Indigenous and Tribal peoples in Independent
countries was adopted by |.L.O in 1980,

B. Indigenous people have the right to self-determination.
C. Indigenous people have no right to nationality.

D. Indigenous people have the collective right to determine the responsibilities of individuals
to their communities.

Choose the correct answer from the options given below :

1. A, B and C only
2. B, C and D only
3.C, D and A only
4. A B and D only
Options :
71087042861. 1
71087042862. 2
71087042863. 3
71087042864. 4

Question Number : 96 Question Id : 71087010750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FafoRad 4 4 o9 oY WIHE oHal Sahe Ui s R A 9ai g 7

(A) 1980 # 3M13.0a1. 31, 4 %ol o2 # RS SR AGard! S-ar & a1 H 49wy (TE - 169)
3fiffenTe farar Tl

(B) TH@ oFd &I TH-F0ig &1 HfiaR &
(C) RTH1d ST Dl AP D1 D3 HUDR T8l 5
(D) RTHS ST Bl 30+ THeAl & fdadl & IuReiidw@l & FuURu &1 9t sfiaRr g1

i feu T faeedl § 9 98l o g
1. &ad (A), (B) 3R (C)

2. &qd (8), (C) 3R (D)

3. 9ad (0), (D) 3R (A)

4, &ad (A), (B) 31 (D)

Options :

71087042861. 1
71087042862. 2
71087042863. 3
71087042864. 4

Question Number : 97 Question Id : 71087010751 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The concept of Liberty stands for

A. Absence of all restraints

B. Pursuing one's own good is one's own way

C. License to do anything

D. Liberty for one and all, only if it is regulated

Choose the correct answer from the options given below :

1. A and B only
2. B and C only
3. Cand D only
4. B and D only
Options :
71087042865. 1
71087042866. 2
71087042867. 3
71087042868. 4

Question Number : 97 Question Id : 71087010751 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



WA B HIURN BT Il &

(A) FHE D I HHG|

(B) ol =ofad g1 94 o0+ fd &1 91eH &1 5ag &3

(€) TS i B B gy |

(D) TfE Woaal f[afHaid g o g 3 & e 3

id feu e fasedl & ¥ 981 IR 9T
1. Bad (A) 3R (B)

2. Pad (B) 3R (O)

3. &ad (C) 3R (D)

4, &ad (B) 31X (D)

Options :

71087042865. 1
71087042866. 2
71087042867. 3
71087042868. 4

Question Number : 98 Question Id : 71087010752 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who among the following are proponents of the Marxist perspective on Human Rights?
A. Antonio Gramsci

B. Rosa Luxemburg

C. Thomas Paine

D. Jermy Bentham

Choose the most appropriate answer from the options given below :

1. A and B only
2. B and C only
3. Cand D only
4. D and A only
Options :
71087042869. 1
71087042870. 2
71087042871. 3
71087042872. 4

Question Number : 98 Question Id : 71087010752 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFrafefed & @ o a9 siffeR & R & Aad] ehe & ufiues & ¢
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(C) 4rFg U
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Options :

71087042869. 1
71087042870. 2
71087042871. 3
71087042872. 4

Question Number : 99 Question Id : 71087010753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is true about the Right to food?

A. This is an entitlement to be free from hunger.

B. This entails meeting specific calorie norms.

C. Right to food is not a part of Right to life.

D. Prevention of famines is not an aspect of the right to food.
Choose the most appropriate answer from the options given below :

1. A and B only
2. B and C only
3. D and A only
4. C and D only
Options :
71087042873. 1
71087042874. 2
71087042875. 3
71087042876. 4

Question Number : 99 Question Id : 71087010753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(D) GfHal @t AU HisH b DR &I Udh Uge ol & |
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Options :

71087042873. 1
71087042874. 2
71087042875. 3
71087042876. 4

Question Number : 100 Question Id : 71087010754 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are not international crimes?

A. Crimes against humanity

B. Preventive detention

C. Genocide

D. Racial Discrimination

Choose the most appropriate answer from the options given below :

1. A and B only
2. B and D only
3. A and C only
4. A and D only
Options :
71087042877. 1
71087042878. 2
71087042879. 3
71087042880. 4

Question Number : 100 Question Id : 71087010754 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFafeRad # 9 o19-9 S{aRifg SRy 6l 8 7

(A) HIFEdT & Uid SURTE

(B) FaR® ARy

(C) SHEBR

(D) T HGHg

1 feu 7 fasedl # 9 951 3w 9iFY
1. Bad (A) 3R (B)

2. &ad (B) 3R (D)

3. &ad (A) 3R (Q)

4, Had (A) 3R (D)

Options :

71087042877. 1
71087042878. 2
71087042879. 3
71087042880. 4

Question Number : 101 Question Id : 71087010755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The International Criminal Court has jurisdiction with respect to the following crimes
A. Crime of genocide .

B. Crimes against humanity .

C. War Crimes

D. Crimes against Peace .

Choose the correct answer from the options given below :

1.B, C and D only
2. A, B and C only
3. A, B and D only
4. A, Cand D only
Options :
71087042881. 1
71087042882. 2
71087042883. 3
71087042884. 4

Question Number : 101 Question Id : 71087010755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



IRIFI STRITSS raray &l Fafdiied d ¥ e o) H its eaieR & ;
(A) OF - HER @I U1

(B) Aadl & Uid SOy

(C) TS WY

(D) T & Fog WY

1 feu 7 fasedl # 9 951 3w 9iFY
1.4d (B), (C) 3R (D)

2. ®ad (A), (B) 3R (Q)

3. &ad (A), (B) 3R (D)

4, &dd (A), (C) 3R (D)

Options :

71087042881. 1
71087042882. 2
71087042883. 3
71087042884. 4

Question Number : 102 Question Id : 71087010756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is NOT correct about the Right to Self-determination?

A. It has not been recognised as an established principle of international law.

B. It is a collective right.

C. Self-determination means independence and freedom from alien rule and domination.

D. International covenant on civil and political rights has not laid down the Right to Self-
determination as a human right.

Choose the most appropriate answer from the options given below :

1. A and B only
2. A and C only
3. A and D only
4. B and D only
Options :
71087042885. 1
71087042886. 2
71087042887. 3
71087042888. 4

Question Number : 102 Question Id : 71087010756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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id feu 77u fadedl & ¥ Ul SR 9T
1. Bad (A) 3R (B)

2. ®ad (A) 3R (Q)

3. &ad (A) 3R (D)

4, &ad (B) 3R (D)

Options :

71087042885. 1
71087042886. 2
71087042887. 3
71087042888. 4

Question Number : 103 Question Id : 71087010757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is true about "The First Citizen's Report, 1982”7
A. It was a comprehensive status report about the environment in India.

B. This report did not establish any link between the Environment and Development and
Poverty.

C. This report was published by the Centre for Science and Environment.

D. This report concluded that the conflicts in Developmental processes are not conflicts for
control of natural resources.

Choose the most appropriate answer from the options given below :

1. A and B only
2. A and C only
3. Cand D only
4. B and D only
Options :
71087042889. 1
71087042890. 2
71087042891. 3
71087042892. 4

Question Number : 103 Question Id : 71087010757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087042889. 1
71087042890. 2
71087042891. 3
71087042892. 4

Question Number : 104 Question Id : 71087010758 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following attract Trans-national Companies (TNCs) to expand their business?
A. High levels of economic and financial regulation

B. Awvailability of cheap and skilled labour

C. Strong protection of labour rights

D. Access to markets with high disposable incomes

Choose the most appropriate answer from the options given below :

1. A and B only
2. Cand D only
3. B and D only
4. C and B only
Options :
71087042893. 1
71087042894. 2
71087042895. 3
71087042896. 4

Question Number : 104 Question Id : 71087010758 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFafeiad 9 9 o - 9 W W1 - AP SUCT (S - 720 SUHS) DI STd HaEd b
faR @ fere sraffd e € 2

(A) T 3R o<y Ao & 3= &
(B) T 3R TR HugR] Bl JUcisdl
(€) 4Hl & AHUBRI BT Tgar © &

(D) 3= UG 3G & Y daR| da Ugd
- feu v fasedl ¥ ¥ 9El S 9T

Options :

71087042893. 1
71087042894. 2
71087042895. 3
71087042896. 4

Question Number : 105 Question Id : 71087010759 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following characterize terrorism?

A. Terrorism is a form of political violence.

B. Terrorist violence indiscriminately attacks civilian targets.

C. Terrorist violence is not clandestine

D. There is universal agreement about what constitutes terrorism.
Choose the correct answer from the options given below :

1. A and D only
2. A and B only
3. B and C only
4. C and D only
Options :
71087042897. 1
71087042898. 2
71087042899. 3
71087042900. 4

Question Number : 105 Question Id : 71087010759 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FafaRad # € S8 BY ddarg ®I gui- Bl 5 ?

(A) DTG ITSHITTD [ BT Uh T g

(B) 3fdaare fafafera fdaml ur sfengy ot ¥ gaaI B & |
(C) 3Mcicpard] feam gy =8l gidl|

(D) 39 SR H graYiiH® FHEa1 ¢ [ adodre | &1 St 8|
i feu 7w fgoeul # ¥ U5l 3w gHU:

Options :

71087042897. 1
71087042898. 2
71087042899. 3
71087042900. 4

Question Number : 106 Question Id : 71087010760 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is true about neo-liberal Theory of Development?

A. Neo-liberalism advocates "Monetarism’

B. Neo-liberal economic thinking is NOT based on neo-classical economic theory.

C. Neo-liberalism is based on ideas of rational choice and methodological individualism.
D. Friedrich von Hayek was one of its exponents.

Choose the correct answer from the options given below :

1.A,Band C only
2.B, Cand D only
3.A,Cand D only
4. A,BandD only
Options :
71087042901. 1
71087042902. 2
71087042903. 3
71087042904. 4

Question Number : 106 Question Id : 71087010760 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fafafad d 4 ®F -3 &y [dor & 19 - SeRae MEid d R § ¥gl & 7
(A) 774 - 3GRAIG HilgddIg &I Ud] Bl &
(B) 74 - SaRara! e fefaw 79 - saiea nfie fsia w anafd 981 81

(C) 19 - FCIRAIG Al ® [g@ed 3R UG ovd sigaars & /9l O SH1HRd B

(D) haR@ di- g4 39 Ufauad! # 4 TH Y|

i feu e famedl § O 98 IR 9T
1. &ad (A), (B) 3R (C)

2. ad (B), (C) 3R (D)

3. &ad (A), (O) 3R (D)

4, &ad (A), (B) 31 (D)

Options :

71087042901. 1
71087042902. 2
71087042903. 3
71087042904. 4

Question Number : 107 Question Id : 71087010761 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is true about Mahatma Gandhi National Rural Employment Guarantee
Scheme?

A. It provides 100 days of work per year to rural households,

B. Work is guaranteed to skilled white-collar workers under this scheme.

C. It does not guarantee statutory minimum wages.

D. Itincreases the bargaining power of the poor workers in the labour market.
Choose the most appropriate answer from the options given below :

1. A and B only
2. A and D only
3. A and C only
4. B and C only
Options :
71087042905. 1
71087042906. 2
71087042907. 3
71087042908. 4

Question Number : 107 Question Id : 71087010761 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFrafeiad # 9 Sl oY= HeT@ i AP JHi0 AR TRE o] & R H 981 6 7

(A) 39D 3fatld FHI0 ORERI @1 Ufd 99 100 &1 @1 B/ - AR YaH f6ar | gl

(B) 39 TS & 3fciid HId Uhaurx 48! & & &t TRl &1 713 31

(C) T9F HeFTd YD giad Tuigs] ®1 TR 781 &1 713 B

(D) TE TioHT YiH® ST6IR H TRId 418! B HeaToll Bi e @RI UlaR) H ghg Bl ¢

id feu e fasedl & ¥ 981 IR 9T
1. Bad (A) 3R (B)

2, &ad (A) 3R (D)

3. &ad (A) 3R (Q)

4, &dd (B) 3R ()

Options :

71087042905. 1
71087042906. 2
71087042907. 3
71087042908. 4

Question Number : 108 Question Id : 71087010762 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are provided under the European Convention on Human Rights?
A. Freedom from expulsion from a state.

B. Retroactive application of criminal law.

C. Restriction on founding a family.

D. Abolition of the death penalty.

Choose the most appropriate answer from the options given below :

1. A and B only
2. B and C only
3. A and D only
4. A and C only
Options :
71087042909. 1
71087042910. 2
71087042911. 3
71087042912. 4

Question Number : 108 Question Id : 71087010762 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A HUHR & 9 H GIUY HHGHg & Haiid Hafciad § 3 o ueH [6a [ g 2

(A) I & [HeoTe- 4 o

Options :

71087042909. 1
71087042910. 2
71087042911. 3
71087042912. 4

Question Number : 109 Question Id : 71087010763 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is correct about backward caste/class movement?

A. Most of the scholars consider all the castes other than dwija (twice-borne) as backward
castes.

B. There are several castes which are not dwija and yet do not consider themselves backward
castes.

C. All the backward castes enjoy a uniform socio-economic status.

D. Gail Omvedt considered backward classes (castes) of northern, western and upper-
southern states as 'bullock capitalists’.

Choose the most appropriate answer from the options given below :

1. B and C only
2. B and D only
3. D and A only
4. A and B only
Options :
71087042913. 1
71087042914. 2
71087042915. 3
71087042916. 4

Question Number : 109 Question Id : 71087010763 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FoftfEa g or - Yoy ed i/ ol sieicH s SR A T & 7

(A) @ fagF fae @ aR 99) 31 8l o 9 wifdl & [Uss! sifaal 7-d g |
(B) Ul 3@ ofadl &, S o el &, = i 307 3! fUsa! Sifaal 9a! A |
(C) TH U@ eS| Syl T G oD - 314® &ul ol a1+ 38Tl 6

(D) 157 3THdgE 7 IR, UigHT SR 3R - giémit sl & foss ot (@niaan) S gale
HiUfeey” & &9 H M

id feu e fasedl & ¥ 981 IR 9T
1. ®add (B) 3R ()

2. &ad (B) 3R (D)

3. Had (D) 3R (A)

4. Had (A) 31X (B)

Options :

71087042913. 1
71087042914. 2
71087042915. 3
71087042916. 4

Question Number : 110 Question Id : 71087010764 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are NOT correct of women's rights?
A. Universal Human Rights regime recognised Women's humanity, legal and civil capacity.

B. Convention on Elimination of All Forms of Discrimination against women was adopted in
1988.

C. CEDAW does not provide for affirmative measures to address women's inequality.
D. Reservation to CEDAW challenges the very idea of women's equality.
Choose the correct answer from the options given below :

1. A and B Only
2. B and C Only
3. A and D Only
4. A and C Only
Options :
71087042917. 1
71087042918. 2
71087042919. 3
71087042920. 4

Question Number : 110 Question Id : 71087010764 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFafafad # 9 o oy Afeasi & fYeRl & @R 9 981 76l 6 2

(A) FIGHIHS A4 USRI ®f caawuT § Afgarsd &1 AFcdar Sk e wd fofaa efagd &1
A G TS B

(8) AR & Ul deud & 9 & Ul & 991 & IR 5 ARG 1989 § Sfffer fear mn
7|

(€) U1 3. 31. T Socg H Afgarsi o SHHGl W 9 o od "HBHeq’ SUM! B gl ol ®l
T

(D) T, 5. SI. U 5oy &I I fdhq - Ui OM1 -1 3@ SHara-] Aigarsi o] SHHd b,
faaR @1 g1 gl ool o

513 fog T et 71 @ T8 SR AR

1. Bad (A) 3R (B)
2. Pad (B) 3R (O)
3. &ad (A) 3R (D)
Options :
71087042917. 1
71087042918. 2
71087042919 3
71087042920. 4

Question Number : 111 Question Id : 71087010765 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is true about functions of the UN High Commissioner for Refugees?

A. The mandate and functions of UNHCR is part of international Refugee Law.

B. UNHCR is a global political organisation.

C. UNHCR can provide solutions to refugee problems even without the National governments.
D. UNHCR cannot appear before courts as amicus curiae,

Choose the correct answer from the options given below :

1. A only

2. B only

3. A and C only
4. A and D only
Options :
71087042921. 1
71087042922. 2
71087042923. 3
71087042924. 4

Question Number : 111 Question Id : 71087010765 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frafdiied # € B9 $YT 7, T4, 813 DHIIR DR RUgsier & 1l d aX H 98l 8 ?
(A) QUTT L3R, BT 3G 3R B iRy TRund faft &1 37 8|

(B) .U.09 31.3R. U 3% silided 7164 5

(C) LA HIRAY PRI & fo1 +it IR gHarait & G Uad oY 9ol ol
(D) 4,EH.04 . H. 3R, ‘THiGY &Y' & &4 H Taiad! & 9He Uqd ol 6! 9ol

- feu 7Y famedl & ¥ Wl 3w g

Options :

71087042921. 1
71087042922. 2
71087042923. 3
71087042924. 4

Question Number : 112 Question Id : 71087010766 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are given as Fundamental Rights in the Constitution of India 7
A. Right to Property

B. Right to Secession

C. Right to Equality

D. Right Against Exploitation

Choose the correct answer from the options given below :

1. A and B only
2. B and C only
3. Cand D only
4. A and D only
Options :
71087042925. 1
71087042926. 2
71087042927. 3
71087042928. 4

Question Number : 112 Question Id : 71087010766 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad # ¥ oo HRdY Sy # Ao HeRi & w0 H G g 2
A) THfd @1 PR

(B) 3T BT IHUPR

(C) FHFT BT HUPR

(D) YU & {45 MFUPR

i feu 7w fgoeul # ¥ U5l 3w gHU:

1. Bad (A) 3R (B)
2. Pad (B) 3R (O)
3. &ad (C) 3R (D)
4, &ad (D) 31X (A)
Options :
71087042925. 1
71087042926. 2
71087042927. 3
71087042928. 4

Question Number : 113 Question Id : 71087010767 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are NOT features of the Indian Constitution?
A. Separation of Powers

B. Presidential form of government

C. Freedom of Peaceful Assembly

D. Liberty of Citizens

Choose the correct answer from the options given below :

1. A and C only
2. B and C only
3. Cand D only
4. A and B only
Options :
71087042929. 1
71087042930. 2
71087042931. 3
71087042932. 4

Question Number : 113 Question Id : 71087010767 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad # 9 DI YR 9y o GReda 981 2
(A) Tl T GUdHI0

(B) HHETHD TH YUITTi

(C) RNifdgdds THI &I Tacidl

(D) ANTND| B Waad

i feu 7w fgoeul # ¥ U5l 3w gHU:

Options :

71087042929. 1
71087042930. 2
71087042931. 3
71087042932. 4

Question Number : 114 Question Id : 71087010768 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who among of the following were the supporters of socialist ideology during Indian National
Movement?

A. C. Rajgopalachari

B. Sardar Patel

C. Ram Manohar Lohia
D. Jawahar Lal Nehru

Choose the correct answer from the options given below :

1. A and B Only
2. B and C Only
3. C and D Only
4. A and D Only
Options :
71087042933. 1
71087042934. 2
71087042935. 3
71087042936. 4

Question Number : 114 Question Id : 71087010768 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFafefad o 9 @ - 9 dT YRdlg AEF fieiad & SR JaarG] [AaRyYRT & G946 o 2
(A) HI. JoFIOTaER
(B) TRGR Jed

(C) IH Fge difgdl

(D) SaTRIdld 18

- feu v fasedl ¥ ¥ 9El S 9T

Options :

71087042933. 1
71087042934. 2
71087042935. 3
71087042936. 4

Question Number : 115 Question Id : 71087010769 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which articles of the Indian Constitution do NOT deal with Emergency powers of the President
of India?

A. Article 352
B. Article 356
C. Article 368
D. Article 370
Choose the correct answer from the options given below :

1. A and B only
2. B and C only
3. Cand D only
4. A and D only
Options :
71087042937. 1
71087042938. 2
71087042939. 3
71087042940. 4

Question Number : 115 Question Id : 71087010769 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



YR G & $1H-9 3w YR & IPUld B SuIdde Wigad! 8 Heiftid 7ol g 2

(B) 3G 356
(C) TG 368
(D) &G 370
i feu 7w fgoeul # ¥ U5l 3w gHU:

Options :

71087042937. 1
71087042938. 2
71087042939. 3
71087042940. 4

Question Number : 116 Question Id : 71087010770 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il
Bodies Headquarters
A. UNICEF l. Geneva

B. UNESCO Il. Rome

C. FAOD lll. New York
D. ILO V. Paris

Choose the correct answer from the options given below :

TA-ILB-IW,C-ILD-|
2ZA-1,B-I,C-1,D-WV
JA-IV,B-LC-1LD-|
4 A-ILB-IILC-1V,D-1
Options :

71087042941. 1
71087042942. 2
71087042943. 3
71087042944. 4

Question Number : 116 Question Id : 71087010770 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



g - gl -1
[EEaL =Y
A gFEH REEEI|
B. gI%P! 1. 39
C. UG, 111"l
D. 3fTs. Td. 3. Iv. g
< feu T fawenl & 9 98 S AT
1. (A) (1), (B) - (IV), (C) - (1), (D) - ()
2. (A) (1), (B) - (1), (C) - (1), (D) - (IV)
3. {ﬁﬂl -(IV), (B) - (1), (C) - (1), (D) -

£ (D) -

(1
D) - ()

1), (B} - (H1), (C) - (IV),
Optlons :

71087042941. 1

71087042942. 2

71087042943. 3

71087042944. 4

Question Number : 117 Question Id : 71087010771 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

Subjects Part of Indian Constitution
A. Panchayat l. Part-ll

B. The Union Judiciary Il. Part-IVA

C. Fundamental Duties Il Part-V

D. Citizenship V. Part- IX

Choose the correct answer from the options given below :

TA-LB-ILC-IILD-V
ZA-ILB-IV, C-l1,D-1
JA-IV,B-LC-1LD-|
4 A-ILB-I1,C-IILD-IV
Options :

71087042945. 1
71087042946. 2
71087042947. 3
71087042948. 4

Question Number : 117 Question Id : 71087010771 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gl -1 Il
ELR) (HRATg TG4 &1 4P
A. damad L. YT - I

B. G AUl ILYRT- IV €
C. Jd dad 11, HRT - V

D ARGl V. HRT - IX
i fou 7e fadsedl © O Ol I gAU

1. (A) -(1), (B) - (1), (C) - (1), (D) - (IV)

2. (A) (1), (B) - (IV), (C) - (1), (D) - (1)

3. (A) -(IV), (B) - (1), (C) - (1), (D) - (1)

4. (A) -(11), (B) - (1), (C) - (), (D) - (V)

Options :

71087042945. 1
71087042946. 2
71087042947. 3
71087042948. 4

Question Number : 118 Question Id : 71087010772 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List II

Book Author

A. The Rise of the Network Society I. Zygmunt Bauman
B. The Mobility of Capital and Labour Il. Saskia Sassen

C. Liguid Modernity 1. Ulrich Beck

D. Power in The Global Age V. Manuel Castells

Choose the correct answer from the options given below :

TA-NLB-IW,C-1,D-II
ZA-IV,B-LC-1LD-1
3A-L,B-ILC-lILD-V
4 A-IV,B-UI,C-1,D-1l
Options :

71087042949. 1
71087042950. 2
71087042951. 3
71087042952 4

Question Number : 118 Question Id : 71087010772 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 & gl -1 Y gAferd sifoe

gl -1 Tl -1l
ELNED) (TRaH)
A. G YS9 HIP G Hedm gige] 1. forme |
B. T AIfafcid] 3t diued Us Tal | G 9
c. fafes mrsfHd 1. 3Sd 9P
D.UIR § & wIled Lol V. A3 HEE
i fou 7e fadsedl © O Ol I gHU:
1. (A) (1), (B) - (IV), (C) - (1) (D) - {I1)
2. (A) -(IV), (B) - (1), (C) - (1), (D) - (1)
3. (A) (1), (B) - (11}, (€) - (1), (D) - (IV)

4. (A) -(IV). (B) - (1), (C) - (1), (D) - (1)
Options :

71087042949. 1
71087042950. 2
71087042951. 3
71087042952. 4

Question Number : 119 Question Id : 71087010773 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il
Books Authors
A. Environment, Development and Society in  |l. Amita Baviskar

contemporary India: An introduction

B. In the Belly of the River: Tribal Conflicts over |Il. Haripriya Rangan
Development in the Narmada Valley

C. Of Myths and Monuments: Rewriting Chipko |lll. Ramchandra Guha
into Himalayan History

D. The Unquiet Woods: Ecological change and  |IV. Archana Prasad
present Resistance in The Himalaya

Choose the correct answer from the options given below :

TA-1L,LB-IV,C-1L,D-1I
ZA-IV,B-LC-1,D- Il
3A-L,B-ILC-lILD-V
4 A-IV,B-1IL,C-1,D-1
Options :

71087042953. 1
71087042954. 2
71087042955. 3
71087042956. 4

Question Number : 119 Question Id : 71087010773 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 & gl -1 Y gAferd sifoe

gl -1 Ol -1
(T=iP) (CRE®)
A, TIAERAHE, SaqUHc Us GG 5 ®om afsdr : |1 3fHar
U SeleaRH alfdene
B. 39 & dcil 3% fa? : 25dd diHTadey g sdagde il gRkitm
=9 & JHal dail M
C. 315 ey Us godcy : TREfd fusl o< feamad | IHEs
el el
D. G 3FDI3E 489 : shlclvidd do U8 Ulee IFady  |Iv. 3Dl
5 @ feArean BE3) [
i fou 7e fadsedl © O Ol I gHU:
1. (A) -(1), (B) - (IV), (C) - (1), (D) - ()
2. (A) -(IV), (B) - (1), (C) - (1), (D) - (1)
3. (A) =(1), (B) - (1), (©) - (1), (D) - (V)

4. (A) -(IV), (B) - (1), (C) - (1), (D) - (1)
Options :

71087042953. 1
71087042954. 2
71087042955. 3
71087042956. 4

Question Number : 120 Question Id : 71087010774 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

Subject Matter Schedules of Indian
Constitution

4. Provisions as to the Administration and |. Eleventh Schedule
control of Scheduled Areas and Scheduled
Tribes

B. Languages iI. Fifth Schedule

C. Provisions on Administration of Tribal )
Il. Eight Schedule

Areas in Assam, Meghalaya, Tripura and
Mizoram

D. Matters in respect of scheme to be IV. Sixth schedule

implemented by Panchayats

Choose the correct answer from the options given below :

TAILB-ILC-IV,D-I
ZA-1L,B-ILC-IILD-V
JA-IV,B-LC-1LD-|
4 A-NLB-ILC-IV.D-I
Options :

71087042957. 1
71087042958. 2
71087042959. 3
71087042960. 4

Question Number : 120 Question Id : 71087010774 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 & gl -1 Y gAferd sifoe

gl - gl -1l
(HRGY Tiay &I

ki ST
A, A &Ff SR Sgiad Sl & U=Te- U :
e | TREE ATl
B. HTHTY 1. gidl gt
C. 399, Turery, AR SR ARy ° oA &3 & o
TR & 9R H 30ay = Siel
g.g}qﬁﬂmﬁfmﬂmlunmﬁmmaﬁﬁﬁwﬁﬁaﬁ sl 3
i fou 7e fadsedl © O Ol I gHU:
1. (A) -(11), (B) - (), (C) - (IV), (D) - ()
2. (A) -(1), (B) - (11}, (C) - (1), (D) - (IV)
3. (A) -(1V). (B) - (1), (C) - (1) (D) - ()

4. (A) (1), (B) - (), (C) - V), (D) - (1)
Options :

71087042957. 1
71087042958. 2
71087042959. 3
71087042960. 4

Question Number : 121 Question Id : 71087010775 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

The perspective of Human Rights Exponents

A. Liberal perspective |. Narayan Guru

B. Marxian perspective Il. John Ruskin

C. Gandhian perspective lll. Rosa Luxemburg
D. Dalit perspective V. J. 5. Mill

Choose the correct answer from the options given below

TA-ILB-ULC-IV,D-I
ZA-1L,B-ILC-IILD-V
JA-ILB-ILC-LD-V
4 A-IV,B-1IL,C-1,D-1
Options :

71087042961. 1
71087042962. 2
71087042963. 3
71087042964. 4

Question Number : 121 Question Id : 71087010775 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 & gl -1 Y gAferd sifoe

gt -1 Tdt -1l
OHaY®R gy yiques
A. IGRAG] UREg 1. TR &
B. ATERiarG! uRusg 11, S e
c. Tidiard uRuey 111, TGT AFaTHE
D. Gicid uRbed Iv. o049, faa
i fou 7e fadsedl © O Ol I AU
1. (A) (1), (B) - (), (C) - (IV}, (D) - (1)
2. (A) (1), (B) - (11}, (C) - (1), (D) - (IV)
3. (A) (1), (B) - (), (C) - (1), (D) - (IV)

4. (A) -(IV). (B) - (1), (€) - (I, (D) - ()
Options :

71087042961. 1
71087042962. 2
71087042963. 3
71087042964. 4

Question Number : 122 Question Id : 71087010776 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11
Instruments Year of

Adoption
A. Convention an the Elimination of All Forms of l. 1990

Discrimination Against Women
B. Convention on the Rights of The Child 1l. 1951
C. Convention Relating to the Status of Refugees 1. 1989

D. International Cenvention on the Protection of the [IV. 1979
Rights Of All Migrant Workers and Members of Their
Families

Choose the correct answer from the options given below :

TA-IV,B-NLC-1LD-I
ZA-IL,B-LC-IILD-V
3A-1L,B-LC-1IL,D-V
4 A-NILB-IV,C-I,D-1
Options :

71087042965. 1
71087042966. 2
71087042967. 3
71087042968. 4

Question Number : 122 Question Id : 71087010776 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 & gl -1 Y gAferd sifoe

Tl -1 i -1l
S igpid &1
6L
A, Afgarsi & Uid 94 UPR & HoHd 3 gae gat! ——
5 .
B. 9101 IR a8l AHHHg Il. 1951
CIRUNAl & G ° gefed ifirgag I1l. 1989
D. g+t yardl HoigR| 7R I URGH| & SHUBR EE T
el APy HiHgag '
i fou 7e fadsedl © O Ol I AU
1. (A) -(IV), (B) - (1), (C) - (1), (D) - (1)
2. (A) (1), (B} - (1), (C) - (1), (D) - (IV)
3. (A) (1), (B) - (1), (©) - (), (D) - (IV)
4. (A) -(I), (B) - (IV), (C) - (I, (D) - (1)
Options :

71087042965. 1
71087042966. 2
71087042967. 3
71087042968. 4

Question Number : 123 Question Id : 71087010777 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

Discourse of Rights Point of Origin

A. Anti-apartheid . Marxist revolution
B. Economic rights Il. American Declaration of Independence
C. Fundamental rights |lll. Anti-colonial movement

D. Directive Principles |IV. Irish constitutional traditions

Choose the correct answer from the options given below :

TA-LB-ILC-IILD-V
ZA-IV,B-LC-1LD-1
JA-ILB-LC-1L,D-V
4 A-IILB-ILC-LLD-WV
Options :

71087042969. 1
71087042970. 2
71087042971. 3
71087042972. 4

Question Number : 123 Question Id : 71087010777 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gl -1 T -1l

(HYSR deT fams) 3ed fdg)

A, T4 TR |, AIEiaTgl Sifaar

B. 3 ifimR \I. T B SERET IGUo
. Aift® ATBR 11 Jufae a2 sigle
D. HifaFcz® sl \v. SRR Saue R
fFgifhd famedl O 4 9el ST g -

1. (A) -(1), (B) - (1), (C) - (1), (D) - (IV)

2. (A) -(IV), (B) - (1), (C) - (1), (D) - ()

3. (A) -(I, (B) - (1), (C) - (1), (D) - (IV)

4. (A) -(Iy, (B) - (), (C) - (1), (D) - (V)

Options :

71087042969. 1
71087042970. 2
71087042971. 3
71087042972. 4

Question Number : 124 Question Id : 71087010778 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11
Advance in Communication Technology Year

A. Earliest version of the Internet with email facility . 1957
B. World Wide Web Il. 1962
C. Era of Communication Satellites begins I1l. 1969
D. 'Third Generation’ Computers V. 1991

Choose the correct answer from the options given below :

TA-IV,B-NLC-1LD-I
ZA-ILB-IW,C-1,D-1I
3A-L,B-ILC-lILD-V
4 A-IV,B-IILC-LD-I
Options :

71087042973. 1
71087042974. 2
71087042975. 3
71087042976. 4

Question Number : 124 Question Id : 71087010778 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 @ gl -1 gHfed e -

Tl -1l gt -1l
1 Uil § Wi ay

A, SHT AT & T1Y ST &l GauyH e . 1957
B. dCc A3 S d9 Il. 1962
C. TR IUUE! & ¥ Bl URY 1. 1969
D. 'YS SR HHeH IV. 1991

Options :

71087042973. 1
71087042974. 2
71087042975. 3
71087042976. 4

Question Number : 125 Question Id : 71087010779 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

Ideas associated with Thinkers

A. Man is made in God's image . Jeremy Bentham

B. Man has intrinsic ‘goods’ Il. St. Thomas Aquinas
C. Categorical Imperatives lll. Immanuel Kant

D. MNonsense on Stilts V. John Locke

Choose the correct answer from the options given below :

TA-ILB-IMW,C-1lLD-I
ZA-1L,B-ILC-IILD-V
JA-IV,B-LC-1LD-|
4 A-NILB-IV,C-I,D-1
Options :

71087042977. 1
71087042978. 2
71087042979. 3
71087042980. 4

Question Number : 125 Question Id : 71087010779 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 @ gl -1 gHfed e -

gl -1 T -1l
AT SR DI BB |, ST ST
B. B8 H gF[Ura<diHied ald & I1. Ud 41Hg TBiEg
C. gy HHaEaH 1. $Hgd Bic
D. Tyl i fafa srfgqan V. S Sid
fgifed faweal o O 9g 3T g -
1. (A) (1), (B) - (), (C) - (11}, (D) - (1)
2. (A) (1), (B) - (11}, (C) - (1), (D) - (IV)
3. (A) -(IV), (B) - (1), (C) - (1), (D) - (1)

4. (A) -(1), (B) - (IV), (C) - (), (D) - ()
Options :

71087042977. 1
71087042978. 2
71087042979. 3
71087042980. 4

Question Number : 126 Question Id : 71087010780 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0




Arrange the following fundamental duties in order of their appearance in the Indian
Constitution :

A. To value and preserve the rich heritage of our composite culture.

B. To safeguard public property and to abjure viclence.

C. To uphold and protect the sovereignty, unity and integrity of India.

D. To develop the scientific temper, humanism and the spirit of inquiry and reform.

Choose the correct answer from the options given below :

1.D,C,B,A
2C, A, D,B
3A,.C,D,B
4B,D,C.A
Options :

71087042981. 1
71087042982. 2
71087042983. 3
71087042984. 4

Question Number : 126 Question Id : 71087010780 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafaiad Hifa® Sasdl ®f YRdg TaaE H 3! AT [ oH © 0 H Joaaryd ®x
(A) TR T3l Tpia 3 T9a TURT B TRAET H1 3R 38 JF &1
(B) UIdwi-a HUf &1 &1 3R fedr &1 Tam

(C) HRA B YUHdT, Udhdl IR RISl b & HIAT AR 3 001 §-1U 3G
(D) dFI-® Y, AFadarg ik URYST d UR B HIa-T [adiad del
Fafeiad fdeeal § ¥ 95l SR g ;

Options :

71087042981. 1
71087042982. 2
71087042983. 3
71087042984. 4

Question Number : 127 Question Id : 71087010781 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the acts in chronological order :

A. Sexual Harassment of Women at Workplace (Prevention, Prohibition and Redressal) Act.
B. Mahatma Gandhi National Rural Employment Guarantee Act.

C. Protection of Human Rights Act.

D. Protection of Women from Domestic Violence Act.

Choose the correct answer from the options given below :

Options :

71087042985. 1
71087042986. 2
71087042987. 3
71087042988. 4

Question Number : 127 Question Id : 71087010781 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HAFTH & BraHHIR Goaad o1 ;

(A) BIUT U Higars] &l dile Jdisd (Raru, ufauy SR ufddiy) sifafos
(B) HETEHT el AIFTg A0 ISR TR SifafaH

(C) AMAITYDR TRE0T fafaq

(D) I T & wigarsd @1 wREm
Fafeied fgmeal # 9 981 3w g -

1.
2.
3.
4.

Options :

71087042985. 1
71087042986. 2
71087042987. 3
71087042988. 4

Question Number : 128 Question Id : 71087010782 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange in sequence of the passage of the following enactments by the Indian Parliament
A. Right to Information Act

B. Right to Education Act

C. National Rural Employment Guarantee Act

D. Prevention of Corruption Act

Choose the correct answer from the options given below :

1.D,A C,B
2A,C,D,B
3.3B,C,D.A
4 A,D,8B,C
Options :

71087042989. 1
71087042990. 2
71087042991. 3
71087042992. 4

Question Number : 128 Question Id : 71087010782 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



YRAIG 996 gR1 UIid Fafaiad sief-adl & sHar gouard of ;
(A) G- @l AfpR Hfafgq
(B) T=1&T @1 SffUHR Hfu-gH

o A

Options :

71087042989. 1
71087042990. 2
71087042991. 3
71087042992. 4

Question Number : 129 Question Id : 71087010783 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following Committees/Commissions in chronological order.
A. Sachar Committee

B. Ranganath Mishra Commission

C. Gopal Singh Committee

D. Nanavati Commission on Godhra

Choose the correct answer from the options given below :

Options :

71087042993. 1
71087042994. 2
71087042995. 3
71087042996. 4

Question Number : 129 Question Id : 71087010783 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad gfafadl / SR & SrasHER oadieydd e -
(A) Wfoiax T= giEfd

(B) T T8 3maT

(c) T f&e Sffd

(D) THERT TR TGl AR
Fafeied fgmeal # 9 981 3w g -

1.
2.
3.
4.

Options :

71087042993. 1
71087042994. 2
71087042995. 3
71087042996. 4

Question Number : 130 Question Id : 71087010784 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following instruments in chronological order.

A. European Convention on Human Rights

B. European Social Charter

C. European Charter for Regional or Minority Languages.

D. Framework Convention for the Protection of National Minorities.

Choose the correct answer from the options given below :

Optlons :

71087042997. 1
71087042998. 2
71087042999. 3
71087043000. 4

Question Number : 130 Question Id : 71087010784 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



(&) AHAIGR dde g sty

() RIUTg GEIfoisd 9re

(C) &IF S7YaT SHeTwegd HIuTSl & fofd TR 9ree
(D) AIBTY SHeqEEID] & & & L s fHEHy
fFafaied faeal 5 9 98l S 9 ;

1.
2.
3.
4.

Options :

71087042997. 1
71087042998. 2
71087042999. 3
71087043000. 4

Question Number : 131 Question Id : 71087010785 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following preventive detention laws in order of their adoption by the Parliament
A. TADA

B. COFEPOSA

C. MISA

D. POTA

Choose the correct answer from the options given below :

Options :

71087043001. 1
71087043002. 2
71087043003. 3
71087043004. 4

Question Number : 131 Question Id : 71087010785 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fgfaiad Fars FRy Gl of 99 3 390 ffioR [T 94 & $9 § Sgafd Sifoe -
(A) TTST

(B) BIBUMNE

o A

Options :

71087043001. 1
71087043002. 2
71087043003. 3
71087043004. 4

Question Number : 132 Question Id : 71087010786 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following social movements in chronological order :
A. Civil Disobedience movement

B. Bhoodan movement

C. Khilafat movement

D. Quit India movement

Choose the correct answer from the options given below :

Options :

71087043005. 1
71087043006. 2
71087043007. 3
71087043008. 4

Question Number : 132 Question Id : 71087010786 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafad gmfem sigianl ®f drasd J dafeud Sife ;

(A) O30 SaqT Aiaia

(B) YoM HigleH
(€) Raarsa siigaq

(D) HIRd B3] 3fiGiaH

- feu v fasedl ¥ ¥ 9El S 9T

1.
2.
3.
4.

Options :

71087043005. 1
71087043006. 2
71087043007. 3
71087043008. 4

Question Number : 133 Question Id : 71087010787 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following publications in chronological order :
A. The Declaration of the Rights of Women

B. The Rights of Man

C. On Laws of War and Peace

D. The National Question and Autonomy

Choose the correct answer from the options given below :

Options :

710870430009. 1
71087043010. 2
71087043011. 3
71087043012. 4

Question Number : 133 Question Id : 71087010787 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frafaiad e RAl ® Srowmd H oaieyd Bty ;
(A) Afgaref & USRI S 9o

(B) U&Y & HIUSRI & 9ol

(C) = 3R wifd 31 fafémi

(D) TTFTT U 3R Gl

i feu ¢ famedl # 9 wel I g :

1.
2.
3.
4.

Options :

71087043009. 1
71087043010. 2
71087043011. 3
71087043012. 4

Question Number : 134 Question Id : 71087010788 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following Commissions in their chronological order :
A. National Commission for Women

B. National Commission for Human Rights

C. National Commission for SC/STs

D. National Commission for the Protection of Child Rights
Choose the correct answer from the options given below :

1.A,B,C,D
2B, C,D. A
3.C,D,A B
4D,A B, C
Options :

71087043013. 1
71087043014. 2
71087043015. 3
71087043016. 4

Question Number : 134 Question Id : 71087010788 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad SIRT &l 3 dicishd H ogdieyd Hifag ;
(A) TP AT AT

(8) BTG A ATYDR TGN

() TIET rggfad Siifd / Srggfed Siemfe ST

(D) TPTT &1 SHTUPR ERE(T SR

3 g e fawed & @ wdl SR gRL:

1.
2.
3.
4.

Options :

71087043013. 1
71087043014. 2
71087043015. 3
71087043016. 4

Question Number : 135 Question Id : 71087010789 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following declarations in chronological order :

A. Declaration Against Torture and other Cruel, Inhuman or Degrading Treatment.
B. Universal Declaration of Human Rights

C. The Vienna Declaration

D. Declaration on the Right to Development

Choose the correct answer from the options given below :

1A B,
2B A,
38,D,
4.0 A,
Options :

71087043017. 1
71087043018. 2
71087043019. 3
71087043020. 4

.= N vy AN R
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Question Number : 135 Question Id : 71087010789 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad Twunsd of 340 PIamd H oaaiedd Bl ;

(A) TddTsA 3R o= &, SMMHd g1 $UHFH® oJdgR & (4o 9ol
(B) A4 ISR ggon

(¢ fag= g

(D) fa®g & ISR R giyon

Hid feu e fgsedl # € Hel 3wk g

1.
2.
3. (B), (D). (A
4.

Options :

71087043017. 1
71087043018. 2
71087043019. 3
71087043020. 4

Question Number : 136 Question Id : 71087010790 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I:

Immediately after the Second World War, there was a thirty-year period of accelerating and
apparently easy economic growth in all core economies of the capitalist world.

Statement Ii:

Eric Hobsbawm subsequently described this period of thirty years as "Golden Age" of
economic growth.

In light of the above statements, choose the correct answer from the options given below :

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but Statement Il is true
Options :

71087043021. 1

71087043022. 2

71087043023. 3

71087043024. 4

Question Number : 136 Question Id : 71087010790 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



:ﬁ%ffﬁﬁﬂﬁ?m%:

&Y - | : fgdig 3% 95 & dora 91g Ysiiarc! f9% &1 995 9a srjogawnsd | &9 a4 do
GABR! 3R T grH e gig o1 SIa 671 Ul

DY - |1 : THD §IG glegaid 7 YD gha & 39 dg JUY DIl ol Ul e B T3 &l 4l
S HYHl b e H Fgifehd famedl H 4 ¥8l ST g -

1. @Y | AR || SH el g

2. YA | SR Il GHI Tad g

3. %Y | T &, fdoeg HYH 11 7T &

4. DY | AHA § , fooq YA 11 Bl B

Options :

71087043021. 1

71087043022. 2

71087043023. 3
71087043024. 4

Question Number : 137 Question Id : 71087010791 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The concept of Fundamental Rights of the Indian Constitution was taken from
the Government of India Act of 1935.

Reason R: The Fundamental Rights are justiciable.

In light of the above statements, choose the most appropriate answer from the options given
below :

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087043025. 1

71087043026. 2

71087043027. 3

71087043028. 4

Question Number : 137 Question Id : 71087010791 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i Gl oy R TN § : U@ @l i@y (a) SR GHR &I ao (R) B8l T &

DY (A) : HRad Hia4H & Aa® USRI @1 SGURT &I 1935 & URd WRER & A9
T forr T A

TP (R) ; Hifcid MfUSR aad & [99R 9 & |

Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;
1. (A) 3R (R) THI &l § 3R (R), (A) BT W61 ARBAG1

2. (A) 3R (R) GIFT H&1 & U (R), (A) BT e 1] T8l 8

3. (A) T§1 8 TG (R) ¥l Tel &

4. (A) Hg1 781 & WRd (R) &1 B

Options :

71087043025. 1

71087043026. 2

71087043027. 3
71087043028. 4

Question Number : 138 Question Id : 71087010792 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement I:

A basic feature of economic development in India has been exclusion-inclusion from control
over assets, benefits of economic growth, education etc

Statement Ii:

This exclusion, however, has been along class or income lines only and not along caste,
community, gender and geographical lines.

In light above statements, choose the correct answer from the options given below ;

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but Statement Il is true
Options :

71087043029. 1

71087043030. 2

71087043031. 3

71087043032. 4

Question Number : 138 Question Id : 71087010792 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043029. 1
71087043030. 2
71087043031. 3
71087043032 4

Question Number : 139 Question Id : 71087010793 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement I:

The United Nations Declaration in the Right to Development, 1986 has been hailed as "The
alpha and omega of human rights, the first and the last human right, the beginning and the
end, the means and goal of human rights...”

Statement Ii:

Critics argue that the Right to Development will divert attention from the pressing issues of
human dignity and freedom and State manipulation of civil society and social groups.

In light of the above statements, choose the correct answer from the options given below :

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but Statement Il is true
Options :

71087043033. 1

71087043034. 2

71087043035. 3

71087043036. 4

Question Number : 139 Question Id : 71087010793 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043033. 1
71087043034. 2
71087043035. 3
71087043036. 4

Question Number : 140 Question Id : 71087010794 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Mostly, child labour is concentrated in the formal sectors of the economy.
Reason R: Children cannot create trouble like going on strike.

In light of the above statements, choose the most appropriate answer from the options given
below :

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087043037. 1

71087043038. 2

71087043039. 3

71087043040. 4

Question Number : 140 Question Id : 71087010794 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043037. 1

71087043038 2

71087043039. 3
71087043040. 4

1.
2.
3.
4.

Sub-Section Number : 2
Sub-Section Id : 710870305
Question Shuffling Allowed : Yes

Question Id : 71087010795 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the passage carefully and answer the questions that follow :

In a series of cases, the ECHR (Eurcpean Court of Human Rights) has established that the
removal of a person from the state may violate Article 3 if the applicant can ‘establish
substantial grounds have been shown for believing that the person concerned if extradited,
faces a real risk of being subjected to torture or to inhuman or degrading treatment or
punishment in the requesting country’ (Soering v UK).

The conduct of the applicant is irrelevant. As Article 3 is absolute, suspected or even convicted
terrorists or criminals cannot be sent back to where there is a real risk of ill-treatment. States
have attempted to argue this obligation is less than the obligation for the expelling state not
to ill-treat those within its jurisdiction and so the risk of expulsion can be balanced against the
risk to the state from the applicant. The Court has rejected this, emphasizing the absolute
nature of Article 3 (see Chahal v UK (1996), Saadi v Italy (2008)). Several cases are before
the Court, which examines the use of extraordinary rendition by the CIA involving the alleged
complicity of European states in the removal of suspected terrorists to secret interrogation
centres in non-European states. In EI-Masri v The Former Yugoslav Republic of Macedonia
(2012), the applicant was held in Macedonia, before being handed over to CIA agents and
flown to Afghanistan. As well as finding a substantive violation of Article 3 due to ill-treatment
by the Macedonian authorities and acquiescence in ill-treatment by CIA agents, the Court also
found Article 3 was violated for allowing the applicant to be flown to a place where there
were substantial grounds for believing he was at real risk of ill-treatment.

Sub questions
Question Number : 141 Question Id : 71087010796 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0



Which states are found complicit with the CIA in the removal of suspected terrorists to secret
interrogation centres?

1. East European
2. West European
3. Non European
4. European
Options :
71087043041. 1
71087043042. 2
71087043043. 3
71087043044. 4

Question Number : 142 Question Id : 71087010797 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In El-Masri v The Former Yugoslav Republic of Macedonia, the applicant was taken to

1. Yugoslavia
2. Macedonia
3. Afghanistan
4. Pakistan
Options :
71087043045. 1
71087043046. 2
71087043047. 3
71087043048. 4

Question Number : 143 Question Id : 71087010798 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is rendered irrelevant due to absoluteness of Article 37

1. Crime of the applicant

2. Case of the applicant

3. Affinity or nationality of the applicant
4. Conduct of the applicant

Options :

71087043049. 1

71087043050. 2

71087043051. 3

71087043052. 4

Question Number : 144 Question Id : 71087010799 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Article 3 deals with the cases of

1. Extradition

2. Immigration
3. Emigration
4. Denial of visa
Options :
71087043053. 1
71087043054. 2
71087043055. 3
71087043056. 4

Question Number : 145 Question Id : 71087010800 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following has NOT been taken as an action violative of Article 37

1. Torture

2. Imprisonment

3. Inhuman treatment
4. Degrading treatment
Options :

71087043057. 1
71087043058. 2
71087043059. 3
71087043060. 4

Question Id : 71087010795 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 71087010796 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043041. 1
71087043042. 2
71087043043. 3
71087043044. 4

Question Number : 142 Question Id : 71087010797 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043045. 1
71087043046. 2
71087043047. 3
71087043048. 4

Question Number : 143 Question Id : 71087010798 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043049. 1

71087043050. 2

71087043051. 3

71087043052. 4

Question Number : 144 Question Id : 71087010799 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

S - 3 PR & @ o el @ dafia 2

1. Fyquy

2. 3di™
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Options :

71087043053. 1
71087043054. 2
71087043055. 3
71087043056. 4

Question Number : 145 Question Id : 71087010800 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043057. 1
71087043058. 2
71087043059. 3
71087043060. 4

Sub-Section Number : 3
Sub-Section Id : 710870306
Question Shuffling Allowed : Yes

Question Id : 71087010801 Question Type : COMPREHENSION Sub Question Shuffling Allowed
Questions : No

Question Numbers : (146 to 150)

Question Label : Comprehension

: Yes Group Comprehension



Read the passage carefully and answer the questions that follow

International legal universality is one of the great achievement of the international human
rights movement, both intrinsically and because it has facilitated a deepening overlapping
consensus. Even the United States participates, fitfully and incompletely, in these consensuses.
Not just the Clinton and Obama administrations but also both Bush administrations regularly
raised human rights concerns in numerous bilateral relations, usually with a central element of
genuine concern. (The real problem with US foreign policy is less where it does raise human
rights concern than where it doesn't, or where it allows them to be subordinated to other
concerns.) All of this matters directly to tens or hundreds of thousands of people and indirectly
to many hundreds of millions, whose lives have been made better by internationally
recognized human rights.

Human rights are not a panacea for the world's problems. They do, however, fully deserve the
prominence they have received in recent years. For the foreseeable future, human rights will
remain a vital element in national, international, and transnational struggles for social justice
and human dignity. The relative universality of those rights is a powerful resource that can be
used to help to build mere just and humane national and international societies.

Sub questions

Question Number : 146 Question Id : 71087010802 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is a powerful resource that can be used to help build more just and
humane national and international societies?

1. Cultural relativity

2. Absolute universality
3. Asiatic universality
4. Relative universality
Options :

71087043061. 1
71087043062. 2
71087043063. 3
710870430064. 4

Question Number : 147 Question Id : 71087010803 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Internationally recognized human rights can

1. Better lives of people

2. Worsen lives of people

3. Be neutral to lives of people
4. Better fortunes of tyrants
Options :

71087043065. 1

71087043066. 2

71087043067. 3

71087043068. 4

Question Number : 148 Question Id : 71087010804 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The real problem with US foreign policy is more where

1. It does raise human rights concerns
2. It allows them to take precedence
3. It allows them to be subordinated
4. It ignores them altogether

Options :

71087043069. 1

71087043070. 2

71087043071. 3

71087043072. 4

Question Number : 149 Question Id : 71087010805 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Deepening overlapping consensus is a product of

1. International human rights regime

2. International legal universality

3. International legal relativity

4. International human rights movement
Options :

71087043073. 1

71087043074. 2

71087043075. 3

71087043076. 4

Question Number : 150 Question Id : 71087010806 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Human rights will not remain a vital element in struggles for social justice and human dignity
at

1. Transnational level
2. Regional level

3. National level

4. International level
Options :
71087043077. 1
71087043078. 2
71087043079. 3
71087043080. 4

Question Id : 71087010801 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 71087010802 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043061. 1



71087043062. 2
71087043063. 3
71087043064. 4

Question Number : 147 Question Id : 71087010803 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043065. 1

71087043066. 2

71087043067. 3

71087043068. 4

Question Number : 148 Question Id : 71087010804 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043069. 1

71087043070. 2
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Question Number : 149 Question Id : 71087010805 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
15+ AU® Gedid [had] 9oy g

1. ATRPE HAIBR

2. AT fafte QraHiHedl
3. JTRIPIY faferes Trgea

4, ARIPIY AR 3Higler
Options :

71087043073. 1

71087043074. 2

71087043075. 3

71087043076. 4

Question Number : 150 Question Id : 71087010806 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
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